Processing IP data
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Software Tools

From the Geoproc Suite

DbaseO - database creation, edit,
display, filtering and gridding




Import the data to a database

u * IP PROCESSING SUITE - Explore
| Input  Ukilities  Modeling  Oubput About
ABEM TERRAMETER.
ASEG ESF file
Iris BIM File
Itis Elrec & dump File
GO0 dump File
GO0 Fullwawe File
Geokerrex Hunkeo dump
Scinkrex IPR11 durnp File

Scinkrex IPR1Z dump File

scinkrex LST File

SmatTEM TIP File
Zonge F.AsW File




Set known
constants
and
metadata in
database
header

[nput D atabaze File

" CREATE OR EDIT AN IP DATABASE HEADER

Drhazeg_ip_wse 2016\processhASEGRWS_TDIP_Data.BDB

To Edit an exizting header - load databaze name and presz “'Edit existing"

— Mumernc [nput Fields - HULL =-1.0E30

EI Edit exizting |

— Character Input Fields - 40 characters mas

Comparny/Client
Region/State/Country
Prozpect/T enement
Contractar/Qperator
Date

Survey Tyupe
Transzmitter

Recelver
Senzor/Electrode type
Lire Direction
Distance Units
Tranzmitter Cycle

Uitz for [P parameter

ASEG

rknown

rknown

GRS

rknown

FOLE-DIFOLE

Songe_GGET

a0

MIMDAS

FPOROUS POT?

Metres

| 4

2.8E zec on,

2 56 sec |off

it

Gradient/Survey Block -0.10000E +31
Tranzmitter 5 erial -0.10000E +31
Receiver Seral Mumber -0.1000000E +31
Tranzmitter Frequency 0.97656E-M
For Gradient ar Pole arays OMLY
Electrode C1 East -0.1000000E +31
Electrode C1 Morth -0.1000000E +31
Electrade C1 RL -0.1000000E +31
Electrade C2/P2 East 0.1000000E +31
Electrode C2/P2 North -0.1000000E +31
Electrade C2/P2 AL 0.1000000E +31
Angle clockwize from true to grid -0.10000E +31
M agretic: declination -0.10000E +31
R« Dipole size or pot spacing if 100,00
overlapped
For Tirne Domain surveys only
Start Integration Time [mS] -0.10000E +37
End Integration Time [mS) -0.10000E +31
ok,

Cancel




FROGRAW IPPROC

Check the log file

tO ensure th|ngs EXECUTED OM: 13/6/2816 at 16:23:25 BY: kim
|OOkS as they _ LOADING AN GEOSOFT STYLE IP DAT FILE
should.

INPUT FILE IS D:\aseg ip ws 2@816\process\ASEGWS TDIP Data.dat

SETTIHG DATABASE HEADER

IMPUT FILE IS D:\aseq_ ip ws 2816\process\ASEGWS TDIP Data.BDB

Each program in the suite

generates its own log file Company  : ASEG
i i i Area : Unknown
s’gorlng information about who 4K bkl
did what and when. Operator  : GRS
Date : Unknown
Survey type: POLE-DIPOLE
Transmitter: Zonge GGT3@7?
Receiver 2 MIHDAS
Sensor S POROUS POT?

Line direction -
Distance Units: Metres
Transmitter cycle: 2.56 sec on,2.56 sec off
IF Units : mU /U

-B8.1008088E+31
-8.1088808088E+31
—-8.18008888E+31

B.9765625E-891
-B8.1008088E+31
-8.1088808088E+31

Gradient Block #
T® serial no.

R® serial no.

Tz Frequency
Start Integration
End Integration
TH to GH angle -B_1800880E+31
mag inclination -8.1008008E+31
Survey date: -8.108808088E+31
Dipole Length 100.080088

Tx C1 East : -B_1800880E+31




T%x C1 Horth: -B8.10000088E+31
Tx C1 Elevation -B8.18000088E+31

Tx C2 East : -B8.180000088E+31

More Of the |Og T= C2 Horth: -0.10800480E+31
file

T® C2 Elewvation -B8.10000008E+31

BIHNARY DATABASE

DATABASE HAME= D:‘\aseg_ip_ ws_ 2816\process\ASEGWS_TDIP_Data.BDB
MO. OF FIELDS PER RECODRD = 78

u FILE STATUE = HOT SORTED
-1 O E + 30 |S a TOTAL NO. OF RECORDS = 10510
null value and FIELD LeBEL MINIMOW HAXIHUH

. . 1 LINE_MO. 3.P00000 3.000008 <« Constant???
|ndlcates that the 2 STATION_HO. 1.808080 10510. 88
; 3 EASTING FIELD IS EMPTY OR STATS HAUE NOT BEEN COMPUTED
fleld haS nOt been 4 NORTHING FIELD IS EMPTY OR STATS HAUE NOT BEEN COMPUTED
5 ELEUATION FIELD IS EMPTY OR STATS HAUE NOT BEEN COMPUTED
6 N_UALUE 1.p0AAA0 1.000088 <« Not provided
Set 7 CURRENT_Amps 1.800008 1.800088 <€ Constant
8 PUOLTAGE_mU ~1574.938 1480.699 < Negatives???
9 ARHO_ohm-m 8.000000 1393 .754 <€ Zero values!
18 CHARGE_mU /U -38085.733 7262 524 <€ Negatives
11 CHB1-25_60888 \Vindow  -1968748.8 186131.8 < andhigh??
12 CHA2-76 8888 centre times —102466 .9 16734.79
13 CHO3-128. 000 ~1312996 . 6656 . 709
14 CHB4-179.200 ~187484 .0 125419 1
15 CHA5-238. 48 -199780.3 53360 .44
16 CHO6-281. 640 ~112552 .1 8434 . 608
17 CHO7-332.800 ~114782 .4 34937 .43
18 CHOS8-38%. 000 ~118034.9 3255 . @71
19 CHE9-435_200 —125745 .7 41742 .45
20 CH18-486 400 ~123097 .3 8073 .538
21 CH11-537 .600 —125804 .7 11903 .73
29 CH12-588.800 ~128157 .8 6231.781
23 CH13-640. 000 ~129747 1 32903 .89
23 CH14-691.200 ~132650.2 9521 .395
25 CH15-742 400 ~135302 .2 5533 .007
26 CH16-793.600 ~137975 .4 20355 .69

27 CH17-844 8O0 -1480863 .1 11718.78



More of the log
file!

Note that the remote
electrode position was not
provided in the XYZ file

28
29
38
31
32
33
34
35
36
37
38
39
La
LY
L2
43
Ly
L5
L
hy
L8
L9
e
&1
52
53
5y
L%
b
57
=1
5o
68
61
62
63
64
65
66
67
68
69
FiL)
k|

CH18-896 . 008
CH19-947 .208
CHZ0-998 . 408
CH21-1049 .68
CH22-1100._88
CH23-1152 .88
CH24-12083 .28
CH25-1254 48
CH26-1305 .68
CH27-1356.88
CH28-1408 08
CH29-1459 .28
CH38-1510._48
CH31-1561.68
CH32-1612 .88
CH33-1664 .00
CH34-1715.28
CH35-1766 .48
CH36-1817 .60
CH37-1868.80
CH38-1920. 08
CH39-1971.28
CH4B-2022 .48
CH41-2073 .68
CH42-2124 .88
CH43-2176 .88
CH4Y-2227 .28
CH4S5-2278 .48
CH46-2329 .68
CH47-2380.88
CH48-2432 .08
CH49-2483 .28
CHS 8-2534 48
C1_EAST

C1_MNORTH

C1_ELEV

C2_EAST

C2_NORTH

£2_ELEV

P1_EAST

P1_MNORTH

P1_ELEU

P2 _EAST

P? NORTH

-142645 .5
-145538.4
-7648 567
-11284 .75
-1762.226
-9868.240
-8064 289
-1995._.899
-2968.821
-28954 .85
118742 .4
-43852 .23
-27¥267 .25
-4363.213
-36208.641
-11967 .16
-4752.77Y
4127 .781
-3361.5087
-3641.891
-6985.561
-3767.959
-214508.82
-4904 248
-18316.94
-7955.329
-19433 .59
-308633 .52
-3138.860
-3787.920
-3843.482
-3842_.889
-19171.49
4258.080
4458.0080
FIELD IS EHWPTY
FIELD IS EHWPTY
FIELD IS EHWPTY
FIELD IS EHWPTY
43008.080
4258.0808
FIELD IS EHWPTY
43008.080
L2cl BAAA

OR
OR
OR
OR

OR

2864.629
19147 .79
8470.269
21693.21
6215 .229
F939.862
131208.98
1836008.98
F643.293
1683 .658
28254 .51
3277 .649
2076472
2081.916
4711.283
17398.42
3692 787
1721.351
1714.621
3837.114
F881.314
2118 . 448
4185.392
9783.921
L72.1878
L3788.65
177 .631
1875.249
287383.3
7868 .651
2410447
519884
39612 .64
L750.008
LA50.0088
STATS HAUE HOT
STATS HAUE HOT
STATS HAUE HOT
STATS HAUE HOT
5700.0888
5250.0888
STATS HAUE HOT
5700.0808
COcC 3 BAR

BEEN COMWPUTED
BEEN COMWPUTED
BEEN COMPUTED
BEEN COMPUTED

BEEN COMPUTED



The last of the log file!

P2_HORTH
P2_ELEU
UMLABELED
ARERR

. ERRIP
Values up to field EUENT

77 were read DAU_NO
directly from the (5L RERG
XYZ file. Field 78

was added by

IPProc

4258.08088
FIELD IS EHMPTY OR STATS
FIELD IS EHPTY OR STATS

- 8884888

- 8880088

-888a888

-888888

- 8884888

£258.0808
HAUE HOT BEEH COWMPUTED
HAVE HOT BEEH COMPUTED
B.8880888
2239.792
381 .08888
Z288.0808808
1.888888




(/| ASEGWS_TDIP_Data.BDB =12 ]

File Edit Tools

CHE|" L[ ¢ AR~
C1_E&ST C1_WORTH C1_ELEW C2 EAST C2 NORTH C2 ELEV F1_EAST F1_WORTH F1_ELEV PE_Eﬁ.EiI
4250.000 4450.000 4300.000 4250.000 4400000
4250.000 4450.000 4300.000 4250.000 4400000
4250.000 4450.000 S nt thoa Aalact ro N NAC i - i M y4300.000 4250.000 4400000
4250.000 4450.000 L UTUVIVULTNTVUL YU OVTUVT T4zo0.000 4250.000 4400.000
4450.000 4450.000 : |F e 2 Il F . E ~ | | - E 4300000 4250.000 4400000
4450.000 4450.000 y v a I I f 4.300.000 4250.000 4400000
4550.000 4450.000 I . . . 4:300.000 4250.000 4400.000
4550.000 4450.000 |L,( :a | " ” I I I Ie d . 4.300.000 4250.000 4400000
il il @M SEARCH AND REPLACE A YALUE OR CONDITIONIN A 5 FD lerm e ok
4E50.000 4450.000 : a— 0o 4400000
ARSI 000 4450 000 To replace all numbers greater than a threshold just type > where # is your threshald, likewize 00 4400000
450,000 3450000 sl b e e e e 400,000
4750.000 4450.000 seanch by or replace with, Othenaize enter the numnber pou want to find, 0o 4400, 000
4750.000 4450.000 0o 4400000
4850.000 4450.000 Value to Find |MULL e 00 4400.000
4850.000 3450.000 Replacement Vale  [4670 00 440,000
4350.000 4450.000 0o 4400000
4950000 4450000 To zearch for or replace a value with nuﬂ:lﬂt;arfigllalLL i the Yalue to Find or Replacement 0o 4400000
il ol By [F%alue ba Find uses a < or F criteria and you want to also include null values then i HL I
ity il iy Tick ba include Nulls in % alue bo fi::d | | i S
5050.000 4450.000 0o 4400.000
5080.000 4450.000 0. Cancel | 0o 4400000
5150.000 4450.000 0o 4400000
5150.000 4450.000 4300.000 4250.000 4400000
5280.000 4450.000 4300.000 4250.000 4400000
5280.000 4450.000 4300.000 4250.000 4400000
5380.000 4450.000 4300.000 4250.000 4400000
5350.000 4450.000 4.300.000 4250.000 4400000
4450.000 4300.000 4250.000 4400.000
4450.000 4.300.000 4250.000 4400000
AAR N0N A=00 Mrn AR NN I A4 HHHLILI
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£ ASEGWS_TDIP_Data.BDB

File Edit Toals

All done. Save and exit

=8| x|

EH " 4tk (el AR E KL
C1_EAST C1_MORTH C1_ELEW C2Z EAST CZ MORTH CZ ELEY P1_EAST P1_MHORTH P1_ELEY PE_E&%
4250.000 4450.000 4B70.000 T1E887.00 RRO.0000 4300.000 42R0.000 4400.000
4250000 4450000 4670.000 T1EE7.00 560.0000 4300000 4250.000 4400000
4250000 4450000 4670.000 T1EE7.00 560.0000 4300000 4250.000 4400000
4250000 4450000 4670.000 T1EE7.00 560.0000 4300000 4250.000 4400000
4450000 4450000 4670.000 T1EE7.00 B60.0000 4300000 4260.000 4400000
4450000 4450000 4670.000 T1EE7.00 B50.0000 4300000 4250.000 4400000
4550000 4450000 4670000 T1RE7.00 550.0000 4300000 4250000 4400000
4550000 4450000 4670000 T1RE7.00 550.0000 4300000 4250000 4400000
4550000 4450000 4670000 T1BE7.00 550.0000 4300000 4250000 4400000
4650000 4450000 4670.000 T1BE7.00 550.0000 4300000 4250000 4400000
4BR0.000 4450.000 4670.000 11E887.00 RRO.0000 4300.000 42R0.000 4400.000
4BR0.000 4450.000 4B70.000 11E887.00 RRO.0000 4300.000 42R0.000 4400.000
4750000 4450000 4670.000 T1EE7.00 560.0000 4300000 4200.000 4400000
4750000 4450000 4670.000 T1EE7.00 560.0000 4300000 4250.000 4400000
4850000 4450000 4670.000 T1EE7.00 560.0000 4300000 4250.000 4400000
4850000 4450000 4670.000 T1EE7.00 560.0000 4300000 4250.000 4400000
4850000 4450000 4670000 T1RE7.00 550.0000 4300000 4250000 4400000
4950000 4450000 4670000 T16E7.00 550.0000 4300000 4250000 4400000
4950000 4450000 4670000 T1BRE7.00 550.0000 4300000 4250000 4400000
4950000 4450000 4670000 T1BE7.00 550.0000 4300000 4250000 4400000
A050.000 4450000 4670.000 T1BE7.00 550.0000 4300000 4250000 4400000
A0A0.000 4450.000 4B70.000 11E887.00 RRO.0000 4300.000 42R0.000 4400.000
A160.000 4450.000 4B70.000 11E887.00 RRO.0000 4300.000 42R0.000 4400.000
5150000 4450000 4670.000 T1EE7.00 560.0000 4300000 4250.000 4400000
5260000 4450000 4670.000 T1EE7.00 560.0000 4300000 4250.000 4400000
5260000 4450000 4670.000 T1EE7.00 260.0000 4300000 4250.000 4400000
5350000 4450000 4670.000 T1EE7.00 B60.0000 4300000 4250.000 4400000
5350000 4450000 4670000 T1RE7.00 550.0000 4300000 4250000 4400000
5450000 4450000 4670000 T16E7.00 550.0000 4300000 4250000 4400000
?‘l 4450000 4670000 T1RE7.00 550.0000 4300000 4250000 4400000
AARN AN AR NN 11R27 1N RO 0NN A300 AN A2RN NN

e

AANnN nnn _Ill
3
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Load the supplied electrode elevations into a database

! Lister - [d:"aseqg_ip_ws_Z016process’ ASEGWS _Grid.topo]
File Edit Options Encoding Help
186
L2ta.
4388,
43ca.
Lhaa.
4hta.
L8,
455A.
L6B8a.
LatA.
L4788,
s
LBd0a.
LBLA.
L4088,
4058,
cafn.
cLesa.
L1688,
L1t A.
L28a.
L2ta.
c3gn.
Laca.
chdn.
Lyta.
ccan.
LLLA.
L6da.

4258,
42598,
4258,
42ta.
42548,
4258,
42598,
42%8.
L2ta.
42548,
4258,
4254,
42548,
L2ta.
42548,
4258,
42ta.
42548,
L2ca.
42548,
4258,
425a.
42548,
L2ta.
42598,
4258,
425a.
42548,
L2ta.

537.
535.
536.
L33.
532.
537.
542,
546,
Lho.
550,
552,
LCh.
560,
L71.
577,
571.
LoD,
566.
COB.
568,
564,
L67.
566.
L6G.
5ok,
567,
Lr2.
575,
L70.

A DATABASE PROCESSING SUITE- Explore

Dperations  eXbtrack  Cukpok Abouk

A Fixwed Format &5CII File
& Free Format &5CI1 File

an A5EG GDFZ File
A Z5Y File

iarid af poinks
A BLM File
A Mewront Random File

izensoft %2 file

| ]
oD DO 0O 00000000000 oD OO o0 0D oD oo @@ @
oD DO 0O 00000000000 oD OO o0 0D oD oo @@ @
GO P =k GO = OO L0 00D O Dok e DR O Mm@ W ek O]




Use the electrode elevation database as a lookup
table to load elevations for C1, P1 and P2

ﬁ: DATABASE PROCESSING SUITE- Explore
Create  Filker | Operations extract  Output  About

Append Databases

_ompute Distance

Convert bebween &G0 and GOAMMWES
Convert bebween UTM and Lak/Long
Cross Correlation

Edit a Database

izenerate Line numbers

Interpolate ta remove null values
Load Dakabase fields using Lookup Table  » A5CII Lookup Table
Mask a database Binary Lookup Table

Sort a database

Speed and heading calculation
Subkrack a Grid from a field
Sympathetically level Uranium channel

Rokation of Axes




Repeat this process for each of C1 P1 and P2

ﬁLDAD UP TO 3 FIELDS IM A DATABASE FROM A LOOKUP TABLE EI
Input Databaze |D:hazeg_ip we 201E\process\ASEGWS_TDIP_Data BDE =,
Lookup Table  |D:haseg_ip ws_ 201E\process’\ASEGWS_Gridtopo.EDE E
— Databaze fields bo compare far match - leave blank i not needed - 500 MUST HAVE AT LEAST OME COMPARISOMN FIELDI —
Input Database #1  |C1_EAST _ﬂ LUT Databaze #1 |« _ﬂ
Input Database #2  |C1_WORTH :_I LUT Databasze #2 o ll
lnput D atabaze #3 :_I LUT Databaze #3 :J

L

— Qutput figlds - to skip a field i the LUT zet bugher numbered LUT felds field to blank

LUT #1 - LUT databaze |alevation j LUT #1 - Output databasze |:;1 ELEY ﬂ
LUT #2 - LUT databaze :J LUT#HZ - Output database ﬂ
LUT #3 - LUT databaze :J LUT#H3 - Output database |-

Labels for output field

MB: If Blank then exizting Label iz retained

— Matching Point Critenia

Accept Lookup from the closest point clozer than

Set non-matching points to null or leave untouched?  [& Myl

I nonnn 0 here looks far an exact match [<1.0e-5] - Beware that thiz may

hiot be pozzible due to rounding errars

Ok I Cancel I




! Lister - [d:\aseqg_ip_ws_2016%process DEASED.PRT]

CheCk the |Og File Edit Options Encoding Help

: no CH39-1971.28 —3767.959 2118 . 448
file to ensure 5Q CH4B-2022 .40 —21450._82 4185 .392
51 CH41-20873 .60 _n09y 248 9703 .921

that all 52 CH4Z2-2124 80 ~10316 .94 572 .1878
53 CH43-2176 .08 _7955 329 53788 .65

electrode cYy CH44-2227 .20 ~19433 .59 7177 .631
: 5G CH4G-2278 40 ~39633.52 1875 .249
locations are 56 CH46-2329 .60 ~3138 860 207303 .3
57 CH47-2380.80 —3707.920 7868 . 051

now set and 5§ CH48-2432 .00 ~3843 . 482 o418 447
: 5o CH49-2483 .20 ~3842 889 7519 884

look sensible. 60 CH5B8-2534 40 ~194171._149 30012 .64
61 C1_EAST 4250, 000 5750.000

62 C1_MORTH W45, 000 5O50. 000

63 C1_ELEU 511.5000 £S5 . A0

61 C2_EAST n670.000 n670. 000

65 C2_MORTH 11687 .00 11687 .00

66 C2_ELEU 55, P00 55H. P00

67 P1_EAST 4300.000 5700. 000

68 P1_NORTH N250. 000 5250, 000

69 P1_ELEU 513 . 0000 592 8000

78 P2 EAST 4300.000 5700.000

71 P2_HORTH 4250. 000 525 Q. 000

79 P2 _ELEU 513 . 0000 502 8000

73 ARERR 0.000000 9.000080

74 ERRIP 0.000000 2230 702

75 EUENT 1.080000 381.0000

76 DAU_NO 1.000000 280. 0000

77 USE_FLAG 1.080000 1.800000

>

T



Open the database .* IP PROCESSING SUITE - Explore
In IPProc. E | Ukilities  Modeling  Qutput About

Average repeat readings

Calculate Apparent Resistivikies
Create Durnrmy M walue For gridding
Calculate Plok Poinks

Set Down Hole Co-ordinakes

EM Decouple CR data

Compuke Electrode Positions
Load Electrode Elevations
Fraser Filter

Re-Ein chargeabiliby

Re-order electrode positions
Re 'E|r|||:||l-' Diecay

Set Survey details in Header
Sork an IF' |:| atabase

Sek records ko nok use

I_|_|r|||:|IJ|'|-' T|‘||='|'|r|-|'|| :|| ||||'

Compuke Swift's LM



. ASEGWS_TDIP_Data. Bl}B

F|Ie
L ARIEILT L HlOtth?eleﬁrUdéstcTcﬁeckTh?IHyUU’ﬁ
LINE_MNO. STATION_MO. EASTIMG NORTHING ELEVATION N_WaLIE CURRENT &mps | PYOLTAGE mv ARHO_ohrn-m CHAF ~
200 =SS 1. 000000 1000000 27 12454 12 78100 4. 69500
S "\ECAY PLOT
200 SR X[XXKHXK KN N K] 1000000 1000000 2714736 12 75200 4 BROO0
.r—)
500 W cccroevae o7 B
3,00 e SN 1 e 10 = 7@ | FE000 10,3700
3,00 : s B - 0000 101,340
[3.00 [ 5300 £.53500
E | | mmi__+____:____j;_____i____i____J;____i____J;____i__ 12000 8.42100
200 = | i . | | | | B30 AL R3900
EXi [ ”“”’r'*““:““'r'“1"“"r“'ﬂ'““'r“'T'““'r' 4740 9,940
|| |4 1 l 1 | 1 I I l l
2,00 1|:|:|:|:|L_.:.____:____1'.____:____'r__—-:————:-———-:-————:—— 4740 9.97500
—— B g 1 | 1 | 1 | | | |
.00 AN - R NN SN SN, -V I N AN . 4700 8.97100
200 P! ! ! ! ! ! ! ! ! 910 112810
—2 ] HIO & ———— |- ———f——— o= ———F—— = ————p ——— 4 ——— =} —
.00 g | I I I I I I I | I G710 11.1280
— — 1 | 1 | 1 | | | |
300 g ““’i"‘T““l““T‘“‘l‘“‘.““‘1““.““‘*.““?“ BRO0 11,3910
200 2 I TR . S . S EE70 113750
300 l | ' ' ' ' | l l 000 111880
—— — sm 1 | ki s
i LU sE U T —
200 wem b~ TR e PR e T sh FE00 122308
200 = ""—'; """"" ot St e i H3000 128,745
300 [ 24000 263651
3,00 B 15000 133.424
[3.00 1.000000 1.000000 0692225 50,3510 10,1840
2,00 1.000000 1.000000 0692225 50,3510 10,1660
200 Log Delay Time fnSad 1. 000000 1000000 7 079525 62 04710 10,4930
3 00 MOLUSE CLICK RETURMS CO-0ORDIMATES i 1.000000 1.000000 -7 073955 3BZMY0 10,4350
X AL N1 1.000000 1.000000 6166529 290, 2880 10,6320
2000000 28 00000 1.000000 1000000 B 1BETE 290,300 105000
7 AnAna 29 00000 1000000 1000000 F 114448 292 RO 10,9670
3 1 20.00000 1.000000 1.000000 5112400 292 5030 10,7060
- 1 Onnnn 1 AnnnNnn 1 NOnnnn A 124708 AFT AN 11 IR7 st
[ ]

" Fecord 1of 10510
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the line

)+Rx2(N))/2 as

N

+(Rx1(

*1000

e B

use Tx(N)

number, nor can we use the half way point between Tx and Rx lines because of
We can

Because each Rx line is energised by 4 Tx lines we can’t use the Rx line as the line

symmetry.
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Use IPProc to .4 IP PROCESSING SUITE - Explore
Comlete the plot Input | Ukilities Modeling  ©uktput About
pOintS (Line, Station ﬁ'-.-'er'-ange rn?pE:aI: r'e.au:liru;!ﬁ. .

I Calculake Apparent Resiskivities
and n V,a_ue) Create Dummy N value For gridding
recognising that the
|ine number W||| be Sek Down H-:nlE-_. Co-ordinates
wrong and will need to MR h
be CompUt e d Edit and View a database
Separately Load Electrode Elewvations

Fraser Filter

Compuke Electrode Positions

Re-Bin chargeabiliky
Re-order electrode positions
Resample Decay

Set Survey details in Header
Sork an IP database

Set records ko not use

Compute Theorekical Yolkage
Compuke Swift's LM _ _




" CALCULATE THE PLOT POINT El

T hig routine computes the plot pogition by taking the average of the entered fieldz. For mare comples cazes you will have to calculate this
rmatually

Input D atabase File ID:"saseg_ip_wa_EEl'l Ehprocess'ASEGWS_TOIP Data.BDE §|

MB: Databaze should be standard IP farmat
— Fields halding Electrode line pozsitions

For remote electrodes or to ignare a field zet the corezponding field to blank

C1 |C1_MORTH *| < Increment F1 |P1_NORTH -

~  remaining fields by 3 _

. Ce x P2 |P2_MNORTH -

Don’t include — —

the remOte IN — Fields halding Electrode station positions
the For remate electrodes or to ignore a field set the coresponding field to blank
calculation
C1 |C1_EAST >| < Increment P1 {P1_EAST |
remaining fields by 3

c2 =l Pz [P2_EAST ~|

— Optionally re-compute the n value

v Alzo compute a new n value?

The zame effective plot point can be computed by reciprocating the potential and curent electrodes. IF the electrodes uze the
zame positions thiz iz walid, if not then pou should give fa zign 2o that the bwo halves of the array plat either zide of the
zero line on the pzeudozection. Mote that bcking this boy changes the definition of n slightly 2o that n=0 implies the T= and Bx
dipoles have the zame centre not offet by one dipole zpacing as iz the nomal interpretation.

[v Give nasign?

Ok | Cancel |




Fil= Edit Tools k I S~ =
" 4= E] KB N INOW eelnpute the line numbei
LIME_MO. STATIOM_HO. EASTIMG HORTHIMG ELEVATION M_WaLLIE CURREMT_fumps PYOLTAGE_mt ARHO_ohm-m EHﬂ.HGEé
4350000 4300000 -1.000000 1.000000 2713126 1278400 4. EE3000
4350000 4300000 -1.000000 1.000000 2712484 1278100 4. 635000
4350000 4300000 -1.000000 1.000000 2714736 1273200 4. EE0000
4350000 4300.000 -1.000000 1.000000 2717633 12,8000 4.542000
4350000 4400.000 1.000000 1.000000 1964517 9. 258000 10.37000
4350000 4400.000 1.000000 1.000000 -19.64956 3 260000 10.34000
4350000 4450000 2000000 1.000000 -25.09632 5915300 &.585000
4350000 4450000 BB reLY A FUNCTIONTO THEr 2 ""'"" o Ao JE ’-""':":’-'EI 53 42000 8.421000
4350000 4450000 i MR B9 33300 8.533000
4350.000 4500.000 Cary out gimple anthrmetic on the databaze. Maore comples maths iz better handled by BDOPERATE 110.4740 3.384000
A o b s Wanable 2 can be a numerical walue or another figld in the database. IF pou want it to be another fisld preceed e it
4350.000 4500.000 the field number with an F. e.g. F23+23.6 adds 23.6 to Field 23, F23-F15 subtracts Field 15 from Field 23. 1104700 3.371000
4350.000 4550.000 MOTE: The trigonometric functions expect angles to be in radians. All functions hawve their standard 168.6510 11.26100
4350000 4550.000 FORTRAM meaning 1686710 11.12800
4350000 4600000 : 1868600 11.353100
— Function
4350000 4600000 186.6570 11.37500
43R0 000 AE00.000 Y ariable 1 Operator Wanable 2 COutput to 18E. 2000 11 1 &a00
4350000 4G50.000 F [C1_NORTH ERE x| 1000 MLINE MO, - 5. 234000 115.9050
4350000 4650.000 E. 758000 1223080
4350000 4650000 Apply to Null Values [ ¥.293000 1287450
4350000 4700.000 B3.82400 2686610
4350000 4700.000 2.109000 133.4240
4350.000 4750.000 Ok Cancel | 3503510 1016400
4350000 4780000 . - . 3803510 1016600
4350000 4800.000 3.000000 1.000000 707525 3620470 10.43300
4350000 4300.000 3.000000 1.000000 -7.07395e5 3620170 10.48500
4350000 4850.000 10.00000 1.000000 -B. 166539 3902880 1063300
4350000 4850.000 10.00000 1.000000 -B.16ET36 3903000 10.50000
4350000 4900000 11.00000 1.000000 5114448 392 BEO0 1096700
ﬁ'{ '1 4900000 11.00000 1.000000 5112400 39260230 10, 70600
._-.:'-.!_l AR 00 12 NN0ne 1 A0nen . iy . e 21 AFT AT 11 qﬁ?ﬂﬂﬂﬂ
= ﬂ Fecord 1of 10510




Now sort the database so
that repeat readings are
tOQ eth er Average repeat readings

iZalculake Apparent Resistivikies

«* IP PROCESSING SUITE - Explore
Input |_I_Il:ilitie=_: Modeling Cutput  About

i_reake Durry W value For gridding
Zalculake Plok Poinks

Sek Down Hole Co-ordinates
EM Decouple CR. daka

Edit and Yiew a database
iZompute Electrode Positions
Load Electrode Elevations
Fraser Filker

Re-Bin chargeability
Re-order electrode positions
Resample Decay

Set Survey details in Header

Sort an IP daktabase

iZompuke Theoretical Yalkage

iZompute Swift's L



Flle roupdegays button O

CH " 4 F[HERFTN D v
 LINE_ND. STATION_NO. EASTING NORTHING ELEYgTioS 'HM@[&M M:Mm

4454250, 200,000 -1.000000 1.000000 2712126 1278400 07

4454250, 4300000 -—_ 000000 1000000 ? 12484 i ?31 an

3.79553

4454250. 4300, uuu il uuunuu 1 unuunu 27. 1?533 1 anaun
oo 13.72791 3233500 416367
oo 13.73274 32.34700 411892
poo 13.72332 32.32500 111114
oo 13.73118 32.34300 416628
boo 13.80545 75.85400 2 60625
----------------- ﬂ-""""""""""; poo 13,8060 75.87100 2.62264
Re peat readings are colou red as poo 13.80532 75.65600 2.BE7E3
4 | are delete buttons boo 13.80357 75.84500 267796
4 : poo 11.91387 5.614000 092995
4¢ i fin 11.92039 5617000 0.95350
4 : o 11.91600 5.615000 093532
4s 10 ' poo -19.64956 9. 260000 B.5E245
4| fin 19.64517 9255000 A.EBE29
4 E b 18.98724 187.7380 £.19739
2 T oo 18.99004 187. 766D B.2344E
2 5 fin 18.99051 187.7710 £.22196
4l 3 b 18.99321 187.7970 £.19657
T oo 21.85487 51.48100 1.66714
4 find 2185540 51.48200 1.67892
42 b 21.85403 51.47500 1.66614
42 fin0 -25.20953 5942000 7.06367
4 fin -26.17238 59.33300 7.16050
4 b -25.09632 59.15300 7.19350
Py, fin0 7.E23483 118.4380 555528
- A jioo 7622725 118.4260 5 41455
N B 100.0 1000.0 10000.0 boo 7625611 118.4710 5.43760

Log Delay Time (msec) M 7RI 118 4490 RA71a9r T

3
hETURNS CO-CRDIMNATES o
e Recards 1kto 4of 10510




.} ASEGWS_TDIP_Data.BDB R . =l
o
File mﬁé ‘;\:\(\6 V\QQG
BT L F RGN TR \exé 8% i
LINE_NO. STATION_ND, FASTAE | NSVNORTHING TIEIN N RO © | qRSHRENT cﬁnps

W0M0 (D S 2 T (@ rJt"’ 1007 1,4_1) 'aﬂ |'||'E1-;m_§ : 7
4454750, 4300 ° S o LAY, un y _'Z',""'I 12.78100 3.91596
4454250, ik@a? —G°—\$°N—€ 6 ‘—p.QQ.ﬁ K0, |? 1279200 36809

: v | XN |

ML LIl
42 e poo 1373274 32'34?‘00 4.1 1892
= B | X | % AR R XD ] 1372332 32.32500 411114
42 o 1373118 32.34300 4 1RR28
— LIMNE 4454250.00, STATIOMN 430000, M= -1.00
4 | i 1380545 7585400 2 BOR25
42 W prrRrRRRRRRrRERRRRRs TR RREREERRERERERERRR AEREREREEEREEERER ~l o 13.80860 75.87100 2 E22E4
42 5 | | i 00 13.80532 75.85600 2 BE783
Iy : 13,8037 75.84500 2.67796
i : & B .. KA X XXX | oW TEET 5614000 0.929%
4: R, Qs R %» ! %/‘ %ﬁ % ! ! 0,) A 11.92039 5617000 0.95350
42 | 0, % *'fé/ R A | A N 1191600 B 515000 093532
1 10 .,L__________6____’2;&___+%__i90f,‘_._%_~9»@---4 --------------------- l U “o,  |196435E 3260000 B 6624F
4 o I 0%6 N i 'OQQ %, “"-,. % " i i b, Gy 1964517 9.258000 5.68628
4 Lg i O, S, Q/Q %;,"G%Q_ | 00 %~ 83596724 1877380 519739
4 2 i %, ! 2 ” Ss "/Q | Qxé.: | oo o, |T#sannd 187.7660 823446
4 B | "6\ %, L% ‘95 () P ! Imn &5 99 187.7710 8.22196
4: 2 : Y % ALY l o Wgabs, 1877 8.19657
4 = 1L ____________________ i______________"}g;,)____j _____________________ i boo 21.8%7 ‘o, [51.48100 1.66714
4 ' ! A | : boo 21.85544 51.48200 1.67892
4 ! l 66 l l o 21.85403 51.47900 1.66614
42 | i "IV i poo -25. 20953 58,42000 7.06367
Iy i ! : : ] 2517238 59.33300 7 16050
4 | i i i o 2509632 59.15300 7.19350
4 : ! ! ! i 7 623483 1184380 5 55628
47 iR i P SO poo 7622725 118 4260 5.41485
I .1 1000 10000 100000 I]EII] ¥ B25E11 118.4710 5.437E0
: Log Delay Time (mSec) i TR 118 4490 R d?1? e
N ETURMS CO-ORDIMATES A
F " Records 1t 4of 10510




=8| x]

." ASEGWS_TDIP_Data.BDB
File:

EH 7 X AN
LIME_MO. STATIOM_MO. EASTIMG MORTHIMG ELEWVATION M_WALLE CURREMT _Amps PYOLTAGE ARHO_ohm-m w1

4454200, 4300000 -1.000000 1. 000000 2712484 1278100 3.9159R

4474250, 4300.000 -1.000000 1.000000 2714736 1279200 3.88098

4454250, 4300.000 -1.000000 1.000000 2717633 12 80600 2] S lala
: -..” | -2 000000 1.000000 13.72791 3233500 4 16367

4 — ' Change plot properties - x|[ 3274 42.34700 4.11832

E%E“KH‘: S e 72332 32.32500 411114

I Flicl bl = EiE 32.34300 416628

— LINE +454250000, STOTION 30000, W= 110 ! ; 5 :

Y. Currently only has meaning for Time domain N545 Th.85400 2 E0E25

| amirsreNgsrrnre R e, i

E T : : Show global median decay for these data? [ _EDBED 75.87100 262264

i | | | 0592 7h.BREN0 2 BE7AY

42 | i i Flat a line for averagesmedian for this repeat? INDne j [ i0a7 75 B4R00 5 G77OR

4 ' ' ; - | 50 = 31387 5614000 0.929%

ki I ! ! Percentile for Median ‘=i |

i | | _ UL i : 12039 B E17000 095350

- | ! ! lgrare negative chargeabilities in calculating medianaverage [ L

di ; . : 1600 A E15000 0593532

4 L cssseessssas N i L The Average/Median is only plotted in group plot mode | B495E 9. 2R0000 2 EE24E

- ' | | [

E | : : —isible YW arnings _ E4517 9252000 2. ERE2D

A E : - _ I— 18724 187.7320 £8.19729

— ' Threzhiold for low W warkin 0.10000 ]

g | . Gl 1004 187 7660 823445

42 B : | i &% belov thiz will rezult in magenta grid lines s 187 7710 5 27 O

" 3 [ | | I ; ;

| — 1 1 L

i ;

i 1. i‘ ———————————— S —: ————————————— Threshold for bad chargeahility I 1000.0 .3548? il LB

di ; : \ /540 51.48200 1 67892

4. | : : & chargeability above thiz will rezult in areen gnd lines 35403 51 47900 1 EEE14

| 1 1 |

E | : : - For Frequency Domain _ 20953 h9.42000 7 OB3RT

i | : i 17238 £3,233300 716050

T | : : Threshold for bad phaze contour interval I 10.000  D9E 32 5515300 719350

|| | | 1

i 0 L : : & phaze interval above this will result in green grid lines 23483 118.4380 5.55623

- . N 12725 118.4260 541435

i 4 imn nmn o Claze _3551 1 118.4710 B, 43760

: Log Delay Time (nSed 24177 118 4490 R 47197

I . 3
i ETURNS CO-ORDINATES 4|

. |Records lta  4of 10510



._5 ASEGWS_TDIP_ Data.BDE
File :
EH|” X HbEw A NDlE

LINE_NO. STATIOM_MO. NORTHIMG ELe A TION
454250, sjooogoo N s (1] 00000 271N 26 1278400

4454250, 4300.000 27124584 1278100

-1.000000 1. 000000 |2.f. e

279553

L4250 000 L ' |-2.000000 |1.000000 [13.72791 122 33500 416367

DECAY PLOT = T |
L — I . SPECTRAL PSEUDOSECTION - LINE N =] ) N G
4. al | XK | XK x HKAXXXXX | D = 411114
416628
LINE 5425000, STOTION X000, N= -100 | caenn —E.EDEEE
o 262264
e 2 6E739

G, e |
ey 267796

T, T, T e T, —_—
e 092995

— — —— gy — —_
i — e e s e, 0.95350

e T e T ] — — — —— —

e g g —— o
————— . A il B 0.93532
. _I_LI T e W " e 8.6E24E
5 e e B.6a62a
.ii'. [ e W SRy~ S W £.19739
E [\ e g s W I
i __'E'__—__“‘"-___""“"'_h_ s B.2344F
= QO s v 822196
——— —_— 8.19657
g ey 166714
1.67892
1.66614
2000000 1.000000 -25.20953 5342000 7.06367
2000000 1.000000 25.17238 59.33300 716050
2000000 1.000000 -25.09632 53.15300 7.19350
Log Dely Time ey -5.000000 1.000000 7.623483 118.4350 5.55528
L e z -5.000000 1.000000 7622725 118.4260 5.41485
" s -5.000000 1.000000 7625611 118.4710 5.437E0
¢ AR 00N SRonnnnnn 1 1nnnen 7R 118 4400 R 4719

3
F -unecurds ito  4of 10510




' SPECTRAL PSEUDDSECTION - LINE 4454250, = |5’ |E|

Sax+laal: pectral psuedosection coloured by record
number with a 6_colour cyclic rainbow

e




Plotting Convention

Because the lines are offset reciprocal station numbers
do not mean the same plot point can be used.




' SPECTRAL PSEUDDSECTION - LINE 4454250, = |5’ |E|

SalxX+leaal] A TeEW ODVIOUS problems




. SPECTRAL PSEUDDSECTION - LINE  4454250. N - =] x|

Sa X+ aal:
[Delete all readings For this station |
T ———
——— -
—t—— -
— e ey, e
TTh— e e
_—— . a T ——
B T — — _——
e e e e e T
T T T —— T ——
— ——— —— TS T
T— — e T e
—— | e — e T T T T, T T, T T
e T ——— T e T, ——— —— ——
——— — e ——— \x e T ey, T T,
= . ——— e ——— —— e —

e — e —— ——— e
e e e R e

— = -—--TT'—E—-T'—“—THA—_‘ e ———

] = —— - __.-"—‘—-—___‘- EEEE—

'--.-'.—--.--

1
' J Delete the worst offenders directly from the SPS




o> SPECTRAL PSEUDDSECTION - LINE 4454250,

=8| x]

Sa|xxlaal Decay too low relative to its neighbours




o SPECTRAL PSEUDDSECTION - LINE 4454250, = | ) |i|

Sal X+ &a;
What is happening with these negative decays?
T
TTt——
e —— e, e
T T T T T T
T T— e
T—— —— ———— e,
e E——— —_— ST D T
—_— e T e e — e e
e T T ——— T ————
—_— T : : ——— —— ——— —
T T o . 7
—— T T e ——
S ——— — ] —
= —_— [
__"""'--.'__""'T""""'--.-_""'--.*——n.____h [ e — —
S e e ae— —— ——
———] - BT _— e
i — ———T— ——
e — —
1* B H#:j‘*--""'“

=  Canweflipt i
N - Notoo high =




o SPECTRAL PSEUDDSECTION - LINE 4454250, = |5’ |E|

S8 XA ea

First pass clean done for this line, move on.

TS T
—
TS e e e T
T e T — : ———
T TE——— e T .
—_—— e T e e e
e T e T T T T e T
s T T, T, e Sty i
- — S — — T T T —
e e e e T —— —_—
4“"‘?“:—"-?"-—:‘-;’—“‘““ S —— —':'"'—-'--._""'TE-T"‘"THHH
———— e e e e
— o e e = ———
T T T ——
———— —_— T T
— e e —
T e e —— =
—— e —




o+ SPECTRAL PSEUDOSECTION - LINE 4454350,

9 A N O O N N
vav;ﬁvavﬁvav;ﬁvava&vav;ﬁvavﬁvav‘
e R S i S B R
FRERE AR SEREANRE RERERERE AR RERN
s T T S R
et —— B NS RS ENSE SRR ERER SR SN SNRN
— VAv¢vav¢vav¢vav4&13v¢vav¢vav¢v‘v'
RERSE 2
T e
: A s oA A A ) A A A
q_--fn‘*“""w AQOU&QOO ﬂdliE)O é]ESiOO dlSEOO 50500 52500 54500 SES%OO 58i00
Broadside dipole =
- sign flips for sk
s
long offsets? H—
- Ipotential
equipotentials e
causing high ——
apparent m due ———
to low Vp
-w-h“‘%m

] h

re

Delete all.




-158| x|
Not convinced?
] it — [

LY - NRGRPRE I §:r T R AN

LINE_MO. STATION_MO. EASTING NORTHING TAGE i ARHO_ahmem M 1~
1454250 BE50.000 Vp - _O 2 ( ed) and i 2627240 372789
1454250, RS0 000 12 262 7350 3. 73595 el
1454250, 700 000 _O 02 (yel IOW) rnv 17 33.30900 0.64303
WoecayploT 7 38.27300 0.68200
1%3 7 X | X NAXKXXXX| 0% 19 38.27900 0.65003
. 27 0.000000 22662
i LINE 45435000, STETION S3500, W= £:50 D I t h 735 0000000 -5, 309:
R P P R P e P e A A g P T ecay p O aS a |48 0.000000 20163
o b k d 323 0.000000 25,825
, green packgroun —
; . . -10f x|
; grid warning the
.
| RGNS SIS N S user that |mi|>1000
-y :
W] - N |V/ V
E aald oo R S
ki E: Y s < '''''''''''''''''''''''''''''''''''''''''''''''''''''''''
L = I
7 I T . 050000 _—
} i o S s i i i ~10.50000 -
. -9.500000 |
. X ' -3.500000
i -&.500000 T,
. -8 RO0000 -
. - B RO0000 e iR
. TR ; -7%000OCC | ]
1 7500000
) |MDLI5E CLICK RETURMS CO-ORDIMNATES i = E00000
i 5375 000 197.48
14 b R375 000 -6 KOO0 1.000000 -0 2860890 -0 0000000 13833
14 |'=._.-.'li'=. I .5 RO [1 rnnnnn 129 9 rman [0 nnnnnn [1F 2grg ™
4_ 3

H R T ] Jﬁi‘ﬁh’n‘h‘ =T b= Coo -F 1MC4d M




' SPECTRAL PSEUDOSECTION - LINE 4454450,

SH SRR Next line - Way Ugly!

=18 x]




.\ SPECTRAL PSEUDDSECTION - LINE  4454450. = |5’ |E|

sax#aa: Some stations have both good and bad decays

e ————— — e —
T T —— e T ——
T ——— e —— T, T,
—— W—"‘“——h
—— e e ——— _""---..._L- R T
e, T, T e, T e, e e T T T T T = ————
T— T — —— = T —— ey, T —— T —
T T —ﬂh‘T_'—"Tﬁka
Te— — T, T s — . —— mm
_.__“_m__‘hmﬁ_..—-—u—p—___‘ —— e e
— T e e T e r— T
e T e T, ———— '_FTn'_"'--.'
e . T T h-—__""r
- e TR eI =y e T
———— 4_—"-?:_‘-;“*____-'- ———
T TS e




=18 x|
File
|7 L M I OW VD
LINE_MO. STATION_NO. EASTING NORTHING ELEWATION N_WALUE CURREMT _&mps | PYOLTAGE_m ARHO_ohim-m CHAF~
4454450, 5200.000 9.000000 1.000000 7.002965 356.4250 13.2120
4454450, 5200.000 9.000000 1.000000 7.002535 356.4030 131190
4454450, 5200.000 | rem— 1.000000 7.004272 356.4910 13.2190_
4454450, 5200.000 1.000000 3633564 277.4880 11.0390
4454450, 5200.000 =R | KX KX XX XXX |9% 1.000000 3633038 277.4480 11.1490
4454450, 5200.000 NE 445448000, STETON 535000, X = 1000 1.000000 3633465 277.4800 10,9460
4454450, 5250.000 ) 1.000000 7.233067 291.5380 13.4910
4454450, 5250.000 : : ) 1.000000 7210464 290.6270 13.0160
4454450, 5250.000 i X : ) 1.000000 7236880 291.6910 13,6680
4454450, 5250.000 T : ) 1.000000 1811720 408.1740 155100
4454450, 5250.000 : : ) 1.000000 18.16778 409.3140 15,4800
4454450, 5250.000 4: i ! ) 1.000000 18.11699 408.1700 15.5120
4454450, 5250.000 ! ! ! ) 1.000000 3201852 317.2000 145130
4454450, 5250000 lsssys s i _____________ i _____________ i ) 1.000000 3201523 71680 14.5220
4454450, B2S0000 | F HTF—----------- Ao S ! ) 1.000000 218.6315 B15.7140 10,5810
4454450, 5250.000 g : ] : ) 1.000000 -218.8095 515.6620 10,5860
4454450, 5250000 _1._______________5 _____________ i _____________ i 1.000000 3526792 §30.9080 10,1870
4454450, 5250.000 ! ! ! 1.000000 3527742 831.1320 10,1750
4454450, 5250.000 : : | 1.000000 78.48295 776.5730 12.9270
4454450, 5250.000 e 4: """"""" E """"""" i 1.000000 78.45084 77E.2550 12,9270
4454450, 5250.000 ! ! ! 1.000000 10.10905 2271370 20,9210
4454450, 5250.000 B e W s l 1.000000 1010564 227 0600 20,8310
4454450, 5250.000 : ! i 1.000000 1010680 227 0860 20,8740
4454450, 5250.000 | oy : ! : 1.000000 11.34364 455.0510 26.2360
4454450, 5250.000 100 1000 10000 100000 1.000000 11.34153 4549670 261160
4454450, £250.000 LoggDilen Tinwd (= 1.000000 11.34338 455.0410 26,1490
MOUSE CLICK RETURMNS CO-ORDIMATES o 371.5700 134220
4454450, 5250.000 10.00000 1.000000 5.904707 371.5150 13.4440
AAEAAER 5250.000 10.00000 1.000000 NEEE Y e -233.00;
: " 5300.000 -7.000000 1.000000 ) 305.1940 14.9490
P i‘l“l 1 - nnnnn 1 N0 9 91 7R49R AR A 14 'CI?I: e
F j . \Records  783ko 7ESof 10510




.’ ASEGWS_TDIP_Data.BDB

File
Y o
EH|" L F| AW AN
LINE_MO. STATION_ MO, EASTING NORTHING ELEVATION oo e - - - =

4454450, F200.000 9,000C .
Deleted record stays in
e @ BE X e s gatabase but marked as
4454450, 5200.00 LINE 55000, STATION 525000, K= 1000 )
4454450, 5200.00 b d h
ad in case you change
4454450, F250.00 . d I t
4454450, F250.00 yOUF | | ”n a er On .
4454450, F250.00
44544580, 250,00 AN T. o 18RS 414,474 5. 4aUL
4454450, F250.00 . . . 00 1.000000 1811699 4081700 16.5120

1 | |
4454450 F260.00 ¢ ! ! ! 00 1.000000 42 (1852 7172000 145130
4454450 F260.00 5 ! ! ! i 1.000000 A2 1523 717 1680 14 5220
4454450 F2R000 B i i i 00 1.000000 1B EA1E 5157140 10,5810
4454450 E25000 & ! ! ! 00 1.000000 218 8095 515 BE20 10,5260
4454450 F250.00 i __ e e B : pon 1.000000 382 6792 30,9080 10.1870

1 | I
4454450 R250.00 ! | | oo 1.000000 162 7742 a1 1320 101750
4454450 R250.00 ! ! ! oo 1.000000 78 48295 7765730 12,9270
4454450 R250.00 | | | oo 1.000000 78 45084 776 2550 12,9270

1 | |
4454450 R250.00 ! ! ! oo 1.000000 1010905 2271370 20,9210
4454450 525000 ! ! ! oo 1000000 1010564 227 (E00 208310
4454450, F26000 g — o A ! fin 1.000000 10,1060 227.0860 20,8740
4454450 R2R0.00 iy oon 100 100000 ] 1.000000 1134764 4FR 0510 26 230

[l 3y Ti S

4454450, 525000 i jion 1.000000 11.34153 454 9570 261160
4454450, 5250.00 [MOUSE CLICK RETURNS CO-ORDINATES AN 1.000000 11.34338 4550410 26.1490
4454450 R250.000 1000000 1000000 B 904707 A71 5150 17 4440
: N R300.000 7000000 1.000000 916299 2051540 14,9450
; [.7 nnninnn [1 nnnnnn [.o 91725 [2ns =470 [14 qann™

N

Imnlw i

4

 Records 104100 1043 0f 10510



=18 %]

Gaxxleali How about this one?

s
' B
A
SBE[X|[X XXXXXXXX|aw | ~

LINE +454450.00, STOTION 250000, W= 100

ninw apryyduty Boy

Log Delay Time (nSed

MOUSE CLICK RETURMS CO-0ORDIMATES

d Overall looks abouﬁﬁﬁ@ﬁamplitude just a bit
rFa noisy at late time?




.’ ASEGWS_TDIP_Data.BDB

=121
Lets add another QC tool -Decay shape
=

File:
EH(" L F (AN B

LIME_MO. STATIOMN_MO. EASTIMG HOR PG ELEVATION M _WALLE CURREMT_Armmp= PYOLTAGE _m\f ARHO_ohrr-m I'--1:-:_'Iﬂ
44544R0, R450.000 B.000000 1.000000 A4 7ETH 1229.044 11.6675
4454480, 5450.000 E. 000000 1.000000 hd G203 1227.226 11.5337
4454450, 5500.000 -3.000000 1.000000 1059168 52,8080 8.43396
4. DECAY | 3; -3.000000 1.000000 1081240 583.94E0 8 34746
E =l in! | by | » N e T Rt | ) }.1_ -1.058000 1.000000 -336. 6940 464.9980 500753
&, -1.000000 1.000000 -987 8239 465.5300 499235

LINE #45445000, STATION 550000, W= 100 2av. 3637y 4131410 -6.1710

| I ey g [ | 1. 000000 1. 00C000 9E7.1888 455, 7R30 8.08921
L | 1. 000000 1. 000000 9406027 443 2260 310007
4. : 3000000 1.000000 1234.5863 1289.055 31004
4 ] X| 3.93930 736750 794525
o This routineg calculates the median decay shape for the database then writes the standard il i i
4 dewviatioh between that and each reading to a field in the databaze, 08567 380.0360 10.4145
4. The median iz computed uzing only decays flagged az OF. to use but the 50 iz computed 03406 973.2940 10,4063
4 5 gulecons 94624 977.9300 10,4500
4. _E Field in database to write Standard Deviation to. bE O30 51 9950 £ 99418
i 5 Label far thiz field? |SD_FROM_MED il e gl Sl
4 = ' I - - B.5763 7457220 327264
& 0.0298 376.9640 14.0851
1. Bl% Cancel_| E.0445 £73.8020 160453
4. BT 77 BR30 812635
4. L m _______ | 4.000000 1.000000 98.9h442 q7e 4220 8.04407
4. : 4.000000 1.000000 9286314 877.51590 803646
4. i -1.000000 1.000000 -324.5699 288.5920 318010
4. : -1.000000 1.000000 -824. 5735 288.6000 3.15767
i T s A1.000000 1.000000 5243843 3685100 313717
4. 1.000000 1.000000 8250284 288.7610 [0.20549
7 MOUSE CLICK RETLRNS CO-GRDINATES % 1.000000 1.000000 7616530 3588980 2.733%
dARAARN 5E00.000 1.000000 1.000000 7739316 364.6840 3.50628
¢ " SE00.000 3.000000 1.000000 1701472 534 8650 522117
: REOIN NN 3 AN 1 NNNnn 1RA 739F 537 F2A0 F2adan T

F

||_= j Records  1117ko  11190f 10510



.} ASEGWS_TDIP_Data.BDB

File
EH|” JTAER (NI E

LINE_NO. STATION_NO. EASTING MORTHING ELEW-‘«TIEH(M M= 2, A b @1~
44544501 500,000 -1.000000 1.000000 936 5940 454.9980 500753
44544501 DECAY PLOT 1.000000 1.000000 987 8233 465 5300 499239

p= 000000 000000 : 4181410

44544501 SBE | XX AREARAEREX |2 1.000000 1.000000 455 7530 808921
4354450 T e e e 1.000000 1.000000 340 027 443 2260 310007
44544501 3.000000 1.000000 234.5869 1283.099 3.10021
4454450 3.000000 1.000000 158.9890 8736750 7.94525
44544501 3.000000 1.000000 174.0152 356 2460 7 8325
4454450 5000000 1.000000 E3.06567 5300960 104126
44544501 5000000 1.000000 £3.03406 5792940 10,4063
44544501 5 000000 1.000000 £2.04624 577.5300 10,4500
4454450 2000000 1.000000 2257030 531.59950 5.99418
44544501 £ 2000000 1.000000 275 5297 5325290 594218
44544501 5 2 000000 1.000000 365763 745 72200 327264
4454450 E 2. 000000 1.000000 160.0298 376.9540 140551
44544501 = 2 000000 1.000000 2860446 E73.8020 160489
44544501 4000000 1.000000 9887773 577 6630 512635
4454450 4.000000 1.000000 5395442 578.4220) 3.04407
44544501 4.000000 1.000000 9805714 577.5190 B.08E46
44544501 1.000000 1.000000 524 5693 388 5980 316010
4454450 1.000000 1.000000 8245795 338 000 315767
4454450 1.000000 1.000000 824.3843 388 5100 RERE
43544501 1.000000 1.000000 825 0284 388 7610 0.80543
4454450 1.000000 1.000000 7616530 358 5920 2 7339
2454450, AT 1000000 1000000 7739315 354 BoAD 360628
4454450, MOUSE CLICK RETURMS CO-ORDINATES A 3.000000 1.000000 170.1472 934,890 5 20117
4454450 FE00.000 3.000000 1.000000 169.7395 5326290 523432
44544501 5E00.000 3.000000 1.000000 1698054 533259910 518114
rEaaEn 550,000 2 000000 1.000000 262 5941 E18.5290 2 9EZ5(
B h FE50.000 2 000000 1.000000 262 165 E18.5820 2 92932
! RERI N 2 IR0 1 TN PE? R99R E18 7R '?':I?.-.'l.-: bl

|_ j ~Records  1117to 11190f 10510



Flle pge'l-

| — A~ 4 B~ 45

BH|” JF|REGF IV E

LIME_MO. STATIOM_RWO, EASTIMG HORTHIMG ELEYVATION N_‘mﬁr
4454450, 5RO, IIIIIIEI -1.000000
44544480, -1.000000

1.000000

M;-:_1:|

4&4.9380

5.00753

%gﬂmxxxxxxxxxxm

LINE ++54450.00, STATION 250000, M= 100

1.000000

485.5300

433233

210021

4454450 000000 1.000000 234 5069 1289.099
4454450 i 2000000 1.000000 158.9290 73,6750 7 04525
4454450 ! = 000000 1.000000 174 0152 5RE. 2460 7 BAazR
4454450 : R (00000 1.000000 F3 05567 G20 0960 10,4145
I 1
4454450 ! 5. 000000 1.000000 E3.03406 9792940 10,4053
4454450 ! 5. 000000 1.000000 E2 94624 9779300 10,4500
4454450 l -2 (00000 1.000000 228 7030 1 9950 R 99418
[Eleitaa o oerds 8 - 1
4454450 5 ! 2 (00000 1.000000 2% 9207 32 5290 5 94718
4454450 5 ! 2 000000 1.000000 165763 745 7220 327264
4454450 E i 2 000000 1.000000 160.0298 3769640 14,0251
4454450 = ! 2 (00000 1.000000 206 0446 738020 1 E0479
4454450 ] 4000000 1.000000 98 8777 977 BR300 812675
4454450 i 4000000 1.000000 o5 95442 9754220 £ 04407
4454450 ! 4000000 1.000000 o8 86314 97751490 £ 03646
4454450 l -1 (00000 1.000000 0124 FRA9 208 5500 21010
e e Y 1
4454450 ! 1000000 1.000000 024 F7R 88 6000 215767
4454450 ! -1.000000 1.000000 024 3043 38585100 313717
4454450 ] 1.000000 1.000000 F25. 0204 208 7610 080544
4454450 10000 1000000 1.000000 761 6530 A% A5A0 2 73306
— [l 3y Ti Sar
4454450, AR 1.000000 1.000000 773.9316 3646840 350628
4454450, MOUSE CLICK RETURMS CO-ORDINATES i 3.000000 1.000000 1701472 934.8690 522117
4454450 BE00.000 2000000 1.000000 169.7295 932 62490 523402
4454450 RR00.000 = (00000 1.000000 169 2054 932 9510 F1a114
AAEAAER RER.O00 2 (00000 1.000000 2E2 F941 E18.5290 2 BRZ50
: " FES0.000 2 000000 1.000000 262 6165 E18.5520 292932
_a RERN N0 2 ONnnrn 1 NNnrnn 2RY BE99R R18 7R3N 202344 =
[ ]

|I_: j JRecords 1117t 11190f 10510



o SPECTRAL PSEUDOSECTION - LINE 4454450,

sa x+aal: Compared to its neighbours? Decay still noisy

but may be OK for first pass.

DECAY PLOT

SBRE|X|XXXXXXXXXX|a%

LINE +#54450.00, STOTION 250000, W= 100

nanw sy ey Bon

f4 - ———
og

Log Delay Time (nSed

o

MOUSE CLICK RETURMS CO-ORDIMATES




o' SPECTRAL PSEUDDSECTION - LINE 4454450,

S XA |

DECAY PLOT

Is one though!

GRFX (X XXXXXXXX[QW [—

LINE ##5445000, STOTION 540000, W= -100

nanw sy ydury Bory

H

;f'
/
. /E
}/

1

|
!

Log Delay Time imSed

|
|
/

u
|
|

|
E
/

1000 — -—__.__.___.—-——--_.._.__-——-.-___.__

MOUSE CLICK RETURMS CO-ORDIMNATES




o SPECTRAL PSEUDOSECTION - LINE 4454450, : = ||5' |£|

SGh| X+ Q] O what ao we do nere :

r—-\._—_--‘i-:. '-.-_'
DECAY PLOT

i ]
i SRE|X|X XAXXXXXX|aH
i

LINE +#5445000, STATION 415000, N =-1000

—r. S

—— D e e e e e T e e T

/
/

e e e ot

nanw apry ydury Bory

| #

R -4
100 1000
T = Log Delay Time (mSed

LLLLil]

- - |MDL|5E CLICK RETURMNS CO-ORDIMATES o

:J — T ——




==l x|
File
BEH|” 4|/ HEEwF N
LINE_MO. STATION_MO. EASTING MORTHING ELEVATION MWL UE CURREMT Amps | PWOLTAGE mb ARHO_ohm-m MH_1;|
4454450, 4700.000 7.000000 1000000 1475984 454 2640 B.31603
1
4454450, 4750.000 1000000 1.000000 -7.994445 5029930 403454
| . 1000000 1.000000 -?.EIEIEE'! 1] R0Z 2950 E.03653
e NOt a Zero |eve| eSt”“ate -10.00000 1.000000 5 389071 339.0720 313396
: . . -3. 000000 1.000000 -10.57604 4242590 3. 36693
- problem -plot in linear T ——————
b space s@RE| X | X KKK X Ko
i p LINE 4454450.00, STATION 475000, M= -10.00
B 1 1 1 1 1 | | | 1 | | |
: 1 1 1 1 1 | | | 1 | | |
P 7L SO S N AU OO NN SUUUOUNL NS, SOOI, | SOOI | O UL .
[| 1 1 1 1 1 | | | 1 | | |
| Vp looks OK
L] 1 1 1 1 1 | | | 1 | | |
o 1 1 1 1 1 | | | 1 | | |
! B By U I R
- 1 1 1 1 1 | | | 1 | | |
: 1 1 1 1 1 | | | 1 | | |
|l 1 1 1 1 1 | | | 1 | | |
1 1 1 1 1 | | | 1 | | |
4 b i B || S R R P b MR RNt R U S R e I ST E L R W S ] B R L R W ol
- 1 1 1 1 1 | | | 1 | | |
- Not sure what the source T
' 1 1 1 1 1 | | | 1 | | |
a . ) I . et s e e
IS but let's match the Lo
- = I 1 1 1 1 | | | 1 | | |
: E ] ] ] ] ] I I I ] I I I
— I b e
: : 1 1 1 1 I I I 1 I I
'global shape and make it : TEEEEEEE
¢ 1 1 1 1 | | | 1 | |
s . . . T I T BN o By e L e W e e e o e o Ee
i | l l l l l l
- 100K lIKe IS Nelgnbours el 1 0BG .
: " | I | | | 1 |
4454450 4750000 L e = ettt = i, v Uil il it Al e r--
4454450, 4800.000 e iy ! ! : : ! !
4454450 4800.000 R e R T s b o=
AARAARN A200.000 : : : e o) : ' :
| 1 1 1 1 F
: N 4800.000 0 e e R
: *‘F""l f1.0nn 0 00 400 600 GO0 4000 4200 {400 {600 {800 2000 2200 2400
= Delay Time (m3ec)




o SPECTRAL PSEUDDSECTION - LINE 4454450, = |ﬁ’ |£|

EF ST ooks OK for a first pass, move on

T —— Bame™
Lo " - ﬁ e
—
i TS SRE| X[ XXX EKXXRNXXK|0N
-———-_._r-—\—n.__.__l‘- a3
e — LINE 445445000, STATION 4750.00, M =-10.00
——— T, = T 1 R R ST L R X R B P L R P N R NP |
e e Rl et l : :
ey I I I
'_‘—l-\-_.__-.- '_‘--a—.__.‘.- ._\_“‘-_""l- e "'I-.. : :
| | |
| | |
| | |
eilh pi g R SR B8 R g SRR g R EEogS R Gk R S SRR g8 PR SEENER AR, 1 iR gh R R o SRR B8 R R SRR I
i T e P : : :
— e e e | 8 l l l
= I I I
— e | 3 : : :
e’ 5 l l l
i 1 o _______ e o ___ I
— l l l
| | |
- J | | |
: 1 1 |
I l l l
___ it l l l
| | |
| | |
=2 | | |
| | |
i e R SSSsnLmsEmessLTTey USsspUEsRET RS l
] a | i I
= 0.4 100.a 1000.0 10000.0
|| Log Delay Time (mSec)

MOUSE CLICK RETURMS CO-ORDIMATES o




i SPECTRAL PSEUDDSECTION -

Sa | X4 | &Qq

LINE 4454750, == ]

Another broadside dipole a bit further off line
Delete all the long offset

7% readings and keep the
_ ; shorter offsets for the
/ moment.
—— We may delete them
Y later.




o SPECTRAL PSEUDOSECTION - LINE  4454850.

S| XA+ |a i

=18 x|

Irst pass clean done.

—_— 1110 of the original
:‘ 10510 readings
—_— —— have been marked

—————e——e—— 3§ bad




o SPECTRAL PSEUDDSECTION - LINE  4454850.

=18 x|

sa x+aa: Second pass - check for more subtle noise
— Start by computing

i e, a chargeabillity to
R — feed the inversion




=

.+ ASEGWS_TDIP_Data.EDB

File - . - -

=8| x|

EH " L M ][N

CH20-1510.40 CH21-1561.E0 CH32-1612.80 CH23-1664.00 CH24-1715.20 CH35-17EE.40 CH36-1817.60 CH27-1868.80 CH38-15920.00 CH2= |
9.212N000 298NN . A FRAN0N A RORONN A 3R00nn f147000 7987000 F.raR000 FE3000 743300
EEE DECAY PLOT 2000 7 E45000 7.629000 7.264000 7.23600
5960 S B KX KAEXEXXKXXEX | ENI 7653000 7.582000 7.425000 7.25700
9.40¢ 2000 £.097000 7.988000 7.745000 7.58500
9.44¢ LINE 4454350 00, STATION 490000, M= 3.00 4000 £.105000 7.978000 7.742000 7.53200
B2 00 e oo D —— P — . EO00 7.194000 7.013000 F.BR3000 E.64300_
B.447 ! ! ! 7000 7.260000 7.135000 F.BE3000 £.77000
TE.0E : : : 500 12.89000 12.70400 11.85700 12.3960
1456t i i i 4200 12 53900 1203600 1215900 12,0930
16.0¢ ! ! ! 3700 12.98700 12.71800 12.99200 11.6970
15.5¢ I T IO i_ ________________ i ________________ _E 44000) 1362200 13.20500 1351000 121160
20,95 ! ! ! 2500 12,4860 17.0E900 12,1570 16.8580
21.0: \N : ! 5500 18.11400 18.12000 17.45300 16.8100
@ - i = | i 5400 12.00600 16.87100 17.00600 16,5560
11.8¢ ‘% ! ! 5100 10.30800 3.942000 3.532000 965500
TE = T R s I ' 7100 10.26200 9.909000 3.795000 957700
7 E5: % i 11000 £.720000 B.646000 £.348000 £.28300
7.800 ! 3000 F.E2E000 £.470000 £.531000 E.27300
7 BEE : 1000 F.745000 £.473000 F.450000 B.16100
9 54E E EO00 B.284000 8.055000 7.915000 7.60900
9,581 [ [ R —— 4000 A.268000 8.009000 7.899000 7.66000
3.00¢ : 2000 7.E50000 7.483000 7.243000 7.14300
5.85¢ E 5000 7 552000 7.409000 7.272000 7.08500
4.75¢ ] 77000 4.126000 3.962000 4.056000 412600
500 i 5000 4162000 4.094000 3.912000 394300
473 Wrrrrsrrarnnnnnns - T 4.082000 3.752000 3811000 372600
331.¢ 00 {000 [0 0000 7900 267.0120 256.7610 250.4920 243936
EELl Log Delay Time fmSec) 4810 2EE.E210 2564480 250.0040 243,468
AN ¢ 3800 267.3700 258.8580 20,6990 242,145

w e 3600 33800 1208400 11.85000

17 91RO 11 RA7T

-‘ | h
. Records 1991toc 1992 oF 10510




i TP PROCESSING SUITE - Explore
Inpuk |_LII:iIiI:ies Modeling Output  Abouk

Re-Bin the chargeability

Average repeat readings

_alculake Apparent Resistivities
Create Dy M walue For gridding

iZalculate Plok Points

Sek Down Hole Co-ordinates
EM Decouple CR. data
Edit and “iew a database
Compute Electrode Position
Load Electrode Elevations
Fraser Filer

Re-Bin chargeability

¥

Re-order electrode positior
Resample Decay
Sek Survey details in Heads
=art an IP database
=t records ko notk use
ompuke Theoretical Woltar
ornpuke Swift's LM

COMPLETE

BIM SE¥ERAL CHARGEABILITY TIME YWINDOWS TOGETHER

Computes the chargeability for a user defined integration window. [ the calculated Chargeability iz written to the standard
chargeahility figld [10] the new integration times will be written to the database header, ovensriting any previous ones.
MOTE: The chargability will need to be recalculated after median averaging as the median of the chargeabilities in figld 10 will ot

necezzanly be the zame az the chargeability of the median decay.

[nput Databaze File

- |nput databaze detailz

D:hazeg ip we 2016\processhASEGWS _TDIF _Data.BDE

MEB: Databaze zhould be standard [P farmat

First "Windaw in Bin i 11::_!-’ Last Windaw in Bin

K-

Qutput Chargeability  |[EMPTYFLD_10 ;‘ Label for this field IMH_'I'I-EBm"\-"M

=

Leave blank o accept curment contents

ak

Cancel I




. ASEGWS_TDIP_Data.BEDB

File

=18 %]

1 = B

1|*|Hﬁﬁx}>€'||ﬁ|}‘“

T
-
A

LINE_HO. STATIOM_MO. EASTIMG HORTHIMG ELEVATION WAL LIE CURBEMT_Armps PYOLTAGE it
000000 1.000000 2712484 1278100 391596
44 =) | w | * S e | < :>_1_ 000000 1.000000 2714736 12.73200 3.88096
000000 1.000000 27 17E33 1280600 3.79553
LINE 4454260.00, STATION 430000, N= -1.00 P 000000 1.000000 13.72791 32.33500 416367
[
\ ; [ ] [ ]
| Integration window and Mx
| —
1 3 n
| =
- & now shown in decay plots
O
1 i . .
1 =
b in the editor
| .
]
E : B e L e L Lo IR L LS L L LI e R L L= Tt et et
g : 000000 1.000000 11.91600 5 E15000 093532
= : 000000 1.000000 -19.E45956 9. 260000 2.EE24E
= |
= ! 000000 1.000000 -19.B4517 9.258000 2.6E623
% : | 000000 1.000000 1898724 1877330 8.19739
: 1 000000 1.000000 18.93004 187 7EED 823445
|
: | 000000 1.000000 18.93051 187770 8.22196
: | 000000 1.000000 1893321 187.7370 2.19657
i ! 000000 1.000000 21.854a87 51.48100 1.66714
: ! 100000 1.000000 21.85540 51.45200 1.67832
| e 000000 1.000000 21.85403 51.47300 1.6E614
|
| 000000 1.000000 -25.20953 53.42000 7.0B3E7
; 000000 1.000000 2517238 53,33300 #.1E050
100 J00 10000 100000 000000 1.000000 -25.09532 59.15300 7.19350
Log Deldy Time {mSec) b, 00000 1.000000 7 E23483 118.4380 h.55520
RETURNS CO-ORDINATES > . 000000 1.000000 7 E22T2R 1184260 541485
" S Ea—n= 000000 1.000000 7 E25E11 1184710 5. 437E0
SR Nnnnnn 1 Annnrn FRM1? 118 A4°0 RAT1a9r T
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-18|x
File
EH|" L F[HHEW NI
STATION_NO. EASTING NORTHING ELEVATION N_WaLIE CURRENT Amps | PVOLTAGE mv |  ARHO_ohmem Me 1138may | cHO =]
4900.000 -7.000000 1.000000 2421199 7430700 21 5952 54,4100
EETM DECAY PLOT . 2 422872 74 35500 21 72411 548430
@ % E | }( | }( }( }( }( }( }( }( }( | < >+ h.034767 811800 16.29257 ¥3.6570
4900, 5 034553 7911500 1631203 73,6700
4300. LINE 445505000, STATION  4900.00, M= -1.00 Sl g = e L
Sl e sttt ettt s e S e . .
1
. Plot the median which
4500, : . .
o , . Ignores negative values.
4900 ! 1
4300, l : 0.2507019 0.1180000 -149,8086 -385.32
4300, i i 3.763596 20.63800 26 64503 120,842
4900 ! ! 3764193 2070200 26 73293 121 583
@ = i i J: 5496722 1011650 18.14450 83.5020
E | ! ! 5.494E13 1011320 1511389 53.5270
- ! ] ! 4030613 123 8760 12 29593 53,8260
4300 2 i i i 4.030921 1238960 12 26300 53.7520
4300] < M— ------------------- !-------------:_-_j_-_:_-i ---- 10| —— ] 5. 250962 268 2260 11 55746 52,8890
4900 Bl E it TTTTT T Rt i ol ——— . 5251220 268 2390 11 45036 52 9550
4300, i i i 3945719 302.9310 3 376573 45,5520
4500, ! - ! 3962761 3042400 3.2940735 465280
4350, l l ! ' l 2067016 130.4470 23.08368 962330
|  lepmesasammsasamaaae AR A A ik i || e 1 2 065852 1304370 2217071 % 6190
49501 : ! -'il‘ : 2 519690 105 2950 22 25707 55,6380
4360 i i ] i 2 £22713 1054010 22 42432 561630
4950, ! ! ! 2 621272 105.3590 22 35600 56,3270
4950, -10. - ! ' : 2 656204 59.79300 2211543 97.4960
[ neg 10.0 100.0 1000.0 10000.0 2 E58170 53.79200 2216953 97.5090
h Log Defay Time: (msec) 418630 5364300 15, 98550 75.0150
K RETURMNS CO-ORDIMATES 4 R ADIRTY R3 AN 1R 87 R i ?13 hul

—_—
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. SPECTRAL PSEUDOSECTION - LINE  4454250. C|LINE_MWO. N - =] x|
= STATIOM_MO. N i 1 i
EF TR EASTING Colour our spectral
ELEVATION .
dosection by M
Nan Bl ol pSuedoseclion Dy WViX
FYOLTAGE_mY
ARHO ohrn-m —
bl 11 -38 5 i
CHO1-25.8000
CHOZ-YE. 8000 ————
_|CHOZ-128.000 5
CHO4-179.200 —
| CHOB-230.400 -
T CHOE-281 600 - -
—— e |CHO7-332.800 [ T——
: CHOB-384.000
— —
- CHO9-435.200 = e
i —|CH10-486.400 B e B
P . sad s CH11-637.600
i TR . CH12-538.800 - s PR SRR 53
. CoLour croice ror pscuppsecidSHECTITTNN = i
CH14-891.200 -
~ Colour decays CH15-742 400 el
il The Spectral plotz can be coloured eif CH16-793.600 of based on a separate field in the databaze e.q.
e Primary Voltage, SEM, Current or Resistif CH17-844. 200 af the reading number the colours will be histogram e
——] CH1E8-896.000 ——
o e _  |cHigad7.zm0
Field to colowr spectra with?  [CH20-998.400 ™| Set to blank for reading number
S S
SERES Colowur model I Linear  Mon Linearl lgrored if colowr figld et to blank - ——r
_-_‘-ﬁ H——?
— == — T
——— "\—--T — e AL ———
.._._._H__“l- J— ._—‘—-T._.-T“-‘-ﬁ.-__-‘l
B T i
4—_?—-__? —.:—--_-"I--
4—-.?&._%




. SPECTRAL PSEUDOSECTION - 45425 =181 x|

IR Colour using global linear
— colour bar. Limited
—— —_range indicates a high
—_ — _— _value elsewhere in the
data.

o e __l-‘-‘--_ __-.-._ — — ._._.___-._
—-...__‘_"_""—_..__-_ ____."___._._'___.___"‘—"-1—-_.‘-—




o* SPECTRAL PSEUDDSECTION - LINE 4454250,

=8| x|

ed| X+ aa: The same data plotted
. with a non-linear colour
—— —__ bar. Pantlegs now

= ="~ Obvious.
— e — T,
T T
T —— TR T ——
. SR S— T
. —— —_—— —— . T
———— e i T e
| e e— T T
e — T, i e — B R —
e iy e R — T e e e e
i e e — T —
—ee—— '_—-'--.-F—u..._____h_--"_*"“-'----.. —_——— T, e, e
LE'“—T“‘T—T“"‘"‘-:"—__‘—-—L—_T ——

—_.-_‘h‘-q—_T—Thh_Th_ﬁ_-.‘-—'—-l—_—‘h—
. F ] __""--.,-_ T
-_—__-‘I- e
" —e—




=18 x]
Find the maximum Mx value
EH (" o Z[HE A+ IR
LIME_MO. STATIOM_MO. EASTIMG HNORTHIMG ELEWATION M_WaSLUE CURREMT_Amps | PWOLTAGE_mi ARHO_okm-mm %
A DECAY PLOT -1.000000 1.000000 27.12434 12.78100 3.91595
4454; =N | * | * B el | < :>'1' -1.000000 1. 000000 2714736 1273200 2.88036
q454; -1.000000 1.000000 2717633 1280600 2.798563
44542 LINE 454250000, STETON 30000, = 4100 -2.000000 1.000000 137279 3233500 4 16367
4454; AT ottt e e -2.000000 1.000000 1373274 3234700 411832
4454; | i i i -2.000000 1.000000 1372332 3232500 411114
44542 I i i i -2.000000 1.000000 1373118 32.34300 416628
LRI I ! ! ! -3.000000 1.000000 13.80545 7585400 2 B0E25
4454: ' e : : ! S NNannn 1 Onnnnn 13 ANRRN TR AFINO0 2 E2264
TFHE : : x| 2 B 76
44542 0 T ____________ T ______________ i __________ To find the Maximum or Minimum just epe in kas ar MM in the value field. To find the nest I 267796
MEE 5 | ! ! Tr1umber greater than a threshold just tppe = # '.-'-:'hErE # iz vour threshold, likewize f_n:ur loweer than. 0 0.9799E
: , o find the next null walue enter MULL, othenwize enter the number pou want to find. By default

4454 .E [ ! ! zearch only conziders readingsz not rarked az bad, thiz can be made global by ignaring the Usze 1 0.95350
s B | | i 7 093632
44547 & I i i Yalue to Find  |MAX infield BRI Ae [ 8.66246
44542 Lbtmm e - e ———————— - D _ I 868628
YL | i i Search direction within the chozen fisld &l Fu:urwar-:ll Eackwarc‘ 0 219739
e I i i lgnore Use Flag? [~ P HEdeE
44542 I ! ! [ 822196
4454; | : : I 8.19657
T N [ : B = _ Careel | i 156714
4454 00+ —ei e — - e e bt e 3 =2 oo e n i n n) ZT. oIy 1. ol 1.6789:2
4454 108 LS T Ll LS -2.000000 1.000000 21.85403 F1.47300 1.BEE14
4454; 2.000000 1.000000 -25.20953 59 42000 7.0B367
44547 EEERE S RETHRN 0 SRR INATES £ 2000000 1.000000 2517238 59 33300 7 16050
4454280, 4450000 2.000000 1.000000 -25.09632 59,15300 7.19350
4454200, 4500.000 -5.000000 1.000000 7. B23483 118 4380 5.50528
4Rl 4500.000 -B.000000 1.000000 FE22T2R 118 4260 5.41485

" 4500000 -5.000000 1.000000 7.B2BE 1184710 543760

RO 1 ONnnne TR 118 44800 RA71a9r T

¥

.-.'l':.f i

F

| Records

1ko

4 of

10510



o SPECTRAL PSEUDDSECTION - LINE 4455050, = | = |E|

Sh|x+ eaqll . : A
An isolated reading - kill it.
T
e,
e e e
e T e e
T T e
———
e e e
‘—"“—-..__'* Hﬂ“‘mﬁ""“m_‘ﬁ e S 0
T e ——— ey
T e | e i ._jll e e
— e T T e
L N e




.} SPECTRAL PSEUDOSECTION - LINE 4455050, -5 x|

Sa X+ el

Still no colour range - find next highest.

._.____._--..
'_“‘F-—.ﬁ'_'_"—l—--‘-
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.’ SPECTRAL PSEUDDSECTION - LINE 5054250. =8| x|

6a x+aq Repeat until...
e 1176 of the original
S T 10510 readings
have now been

mmed as bad




Average repeat readings

].--; IP PROCESSIMNG SUITE - Explore
Input | Ukilities Modeling  Output About

Average repeat readings

i_alculate Apparent Resistivities
i_reake Durmrmy M value For gridding
Calculakbe Plok Poinks
=l N el SRR BV 5 AvER AGE REPEAT READINGS IN AN IP DATABASE
EM Decouple CR. daka

Edit and Yiew a database

Compute Electrode Positions Input Databaze File  |D:haseq_ip_ws_ 201B\process\ASEGWS_TDIP_Data BDB @
=

MEB: Databaze must be zarked first

Load Electrode Elevations

Output Database File  |D:haseg_ip_ws 2016\processhASEGWS_TDIP_Data_Mal BDE
Fraser Filker

Re-Bin chargeability Averaging Parameters -

Re-order eleckrode positions Method to merge repeat readings?  Average | Median Percentile for Median | 50 j
Resample Decay

Sek survey dekails in Header

For readings with mixed positive and negative Wp, switch zign of the leazt common’fw

Sort an IP database | Tirne Dornain orly

Sek records bo nok use : e : :
|gnore negative chargeabilities in calculating median/average v

Compukte Theoretical Yolkage
Compuke Swift's LM

Muaote that if all chargeability walues for a particular window are negative this switch will be ignored for that window

WARMIMG! If pour data baze has electrode positions zet and the operator has taken repeatz or overlapz with
- the current and potential electrodes reverzed, averaging will rezult in an incorrect answer for these fields.
For ztandard arravs yau can recaver from this by uzing IPPROC ta recompute the electrode positions. For
hon-ztandard arrays talk to me about a zalution!

aF. Cancel




Re-Bin the chargeability and re-

calculate the apparent resistivity

.--5 IP PROCESSIMG SUITE - Explore .
Input | Utiities Modeling  Output  About Start by re-ordering the electrodes so that the

fverage repeat readings Geometric factor will always be pOSitive

Calculate Apparent Resiskivities

Creake Durnmy M wvalue For gridding

Calculate Plat Points ' Re-order the electrode fields x|

Set Down Hole Co-ordinates Thiz rauting re-orders the electrode location figldz a recard at a time such that C1 iz the curent electrode clozest o the patential
EM DE!IZIIILIIZI|E! "R data glectrodez and P1 iz the potential electrode clozest to the Current Electiodes.
FR e ol S i Failure ta do thiz will result in incaorrect rezistivities being calculated
Compute Electrode Positions Databaze File D:hazeg_ip we 201E6\process"dSEEWS_TDIP_DATA_MaW BDE ‘Ei
Load Electrode Elevations r Input D atabase Fields
. Where all the location fields hawve not been zet, put that field bo 0 The Dutput will cvenurite the input figlds leaving the labels
Fraser Filter S nE
Fe-Bin chargeabilit‘y {~ Figldz halding lozation of Current Electrodes
Re-order electrode paositions East/< [C1_EAST v| < Incremert East/ |C2_EAST =
R le O remaining fields by 1
esample Decay Cl  MNoth [CI_NORTH =] L2 Narthéy [2NORTH ]
Sek Survey details in Header ALZ [C1_ELE = ALz [c2_ELev ~]
Sort an IP database _
ebrerardebarobiite — Fieldz haolding lozation of Paotential Electrades
: East/[F1_EAST =] East/ |P2_EAST =l
Compute Theaoretical Yolkage
Compute Swift's LiM P North/Y [P1_NORTH =] P2 Natth/y |[F2_NORTH = |
1 ALZ [P1Eley <] ALz [FELEY 7

ak. Cancel |




Then compute the apparent resistivity

P PROCESSING SUITE - Explore
Utilities  Madelling  Oukpuk

1k

fAverage repeat readings

iZalculake Apparent Resiskivities
Zreake Dummy M wvalue For gridding
Zalculake Plak Poinks

Set Down Hole Co-ordinates
EM Decouple CR. data

Edit and Yiew a database
iZompute Electrode Positions
Load Electrode Elevations
Fraser Filker

Re-Bin chargeability
Re-order electrode positions
Resample Decay

Set Survey details in Header
Sort an IP dakabase

Set records to not use
Compuke Theoretical Yaoltage
iZompuke Swift's LM

¥

* CALCULATE THE APPARENT RESISTIVITY i
Abaouk

Computes Apparent Reziztivity, Generalized uzes the full 3D position of each electrode.
MB: *r'ou realy only need to do this for down hole work. Uze the Standard calculation for conventional arays.

Input Databaze File  |D:hazeg_ip_ws 20TE\process\ASEGWS_TDIP_DATA_MAY BDB @

Mate: C1 iz the current electrode clozest to the potential electrodes and F1 iz the potential electrode clozest ta the Current Electrodes. Get that stage wrong and you
end up with negative rezsistiviies. Loke makes the zame aszumptions.
For arrayz with fixed, remote electrodes you can optionally leave both of itz electrode pozition fields blank and put fived electrode positions inta the header.
MB The whole datazet must uze theze electrodes. Choosze between Standard [Default] and Generalized resistivity calculation wzing the radio buttons
DEIDW, W NICH EYEl DPOON YOU CRODSE YoL SnoUid N an aciive neos.

| Uze Standard Ilze Generalized |

imediately abovve the curent electrode. | one or both the current electrode iz at the surface zpecify a suface elevation figld the zame as the BL/Z field

Figldz holding location of Current Electrodes

Eazti |E'|_E.-5‘-.ST ﬂ <- lnzrement E azt/ |E2_E.-“-‘-.ST ﬂ
remaining T fieldz
C1 Morth#Y [C1_MORTH =] consecutively C2 Morth#Y [C2_MORTH =]

Fields holding location of Potential Electrodes

East/ |P1_EAST -l Eastfd [P2_EAST |
bl MNoth/Y' [P1_NORTH ~ «| P2 Morth/y [P2_MORTH =]
Input databasze detailz
Output Apparent B esizstivity |.-f‘-.F|HEI_|:|hm-m ﬂ Label for this figld | Leave blank to accept current contents
Output Geometric factor |EMF‘T‘T’FLD_?EI ﬂ |Geu:umetriu:_F Leave blank to accept curent contents

Calculation Parameters
lgnore sign of ¥p? W 1F pou tick this and =till get negative resistivities see note in red abowve!

Force the geometnic factor bo be pozitive? [ Should only be needed with difficult geometries.

OE | | Cancel |




& ASEGWS_TDIP_DATA_MAY.BDB =121 %]

a4 syl Plot Vp vs Mx
colour by N value

o
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&F ASEGWS_TDIP_DATA_MAY.BDB — : - 8] x|

a
: — ,
% é Colour lookup table for N_¥ALUE L C A v . ' v
— Left Axiz—— 7 Right Auxiz
i 1450000 0.000000 N Ote h Ig h
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________________________ e e e e o e e e e e
s 4002001 0.000000 N va | 'u es
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Clip high Mx values from database

Dperations | gxtract Oukput  Abouk
Extract to; |

Anokther DakaBase From user defined Criteria
From a Palygon

NE\process\ASEGWS_TDIP_DATA_MAY BDB

i=1
=]

The output databaze can be bazed on incluzion or excluzion from the following critena. Databaze field menus left blank wil be ignored

TE\process\ASEGWS_TOIP_DATA_MAY_cliptstal BDE

— Criteria
Field in D atabase Minimurm ¥ alue b axirnuirmn W alue True if inzide or ousgide thiz range?

M 138men =] | noooooo | TS [ Inside. Dutside
o o |

| Bl 0000000 | 0.000000 | Inside Dutside]
oo |

| Bl 0000000 | 0.000000 [ Inside Dutsids]
o o |

| Bl 0000000 | 0.000000 [ Inside Dutsid]
o _on |

| =i 0000000 | 0.000000 [ Inside Dutsids]

Ywhat da pou want to do with paintz that match this criteria’? I Keep Discard

Cancel |




Generate Inversion Input file

. i IP PROCESSING SUITE - Explore w Output data in a format suitable for Loke L
Input Litilities |"-"|I:II:|E=||iI'II;| | Ckpuk Abouk D atabase File ID:'*.aseg_ip_ws_IZD'l B\process\ASEGWS_TDIP_DATA_MMAY clipkxid 0 BDE EI
Creake an A3EG ESF File Output Inversion file ID:'*.a&eg_ip_ws_EEl'l Euwprocesshloke’aSEGWS_TDIP DATA WM&V cliphixitdl_lokeinput dat EI

Export Electrodes ko Surfer

— Input Databaze Fields
Creake a Seosaft “YZ File For arrays with fired, remote electrodes where you have selected output arrap from header, below, blank the electrode position
fieldz. HB The whole datazet must uze these electrodes. Faor 200 output you must hawe either & ory' blank. for each electrode

A gru:l From a Cross hole SUrNEY Mote: C1 iz the curent electrode clozest to the potential electrodes and P1 iz the patenhial electrode clozest to the
Loke inversion input Current Electrodes. Get that stage wrong and you will end up with negative resistivities,

— Fieldz holding location of Current Electrodes

To Grapher For Decays

: EastMlE‘l_EﬂST | < Increment E ast/= IEE_E.&ST |

To GRAPHER Far Profiles - T remaining Tz figlds s o e
- et birvel ark e -
Respace a database to create an ! | consecuivaly | [
Spectral Pseudosection i |':1—E'-E”*'f El RL/Z |'32_E|-E‘-’ |

— Fieldz holding lozation of Patential Electrodes

. East/d [P1_EAST | East/x |P2_EAST |
TrapeZOIdaI mesh. Takes a Pl Noth/Y[PI_NORTH =] P2 Nonsr [FZNORTH =]
bit more time and care ALZ[P1EEVY <] ALz [P2ELEY ]
needS to be taken to aVOId Observed Fesistiviy I,&,p_Heg j Obzerved IP or leave Blank for none

i 20 - Bes2diny

creating voxels that are not e Inverson meds
hd Iapezaidal
close to rectangular but -

M an-Lnifarm {+ 30 - Bes3diny

otherwise provides a more
accurate answer

IF uzing a trapezaoidal mezh then each line of electrodes must hawe the zame number of electrodes in it Thiz will generally require

zome durmmy electiodes be added to the datazet. & plot of electrode pozition on topography will be generated and you can then

manually add durmmy electrodes. [n order to make this work: pou have to zelect a cell size big enough such that all electrodes on
any given line are on the zame row of the grd. However it alzo has to be zmall enough 2o that only one electrode lies in any

qrid cell. Suggest you try half the "'a" zpacing initially far the along line size and half line zpacing for the crosz line zize. If uzing the
non-uhiform meszh electrodes involved in the zame reading need to be at least half a cell away from each other.

Size for grid cell in E azt direction I BO.000  Size for grid cell in Maorthy direction I B0.000

Arount to pad edges by - suggest 1 dipole spacing I 100.00

OF Cancel |
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Dot painting showing electrodes
mesh
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Click. on the cell containing the electrode wou want to re-assign of press move again ko cancel
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Check to see what the mesh looks like.

Contours are elevation gridded from real
electrode elevations in the database. 5m
Intervals

Bottom looks OK but look at the aspect ratio
and voxel size change in the gap between
the survey area and the remote.

Need to add dummies - increase the voxel
NS dimension at less than or equal to 2:1
and keep aspect ratio < 10:1
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.+ Trapezoidal mesh and active electrodes over topography - 5m contours
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Final input trapezoidal mesh
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Non-Uniform mesh

i IP PROCESSING SUITE - Explore

Input  Utilities  Modelling | Output  About
Create an ASEG ESF File
Export Electrodes ko Surfer
Create a Geosoft XYZ file

& grid From a Cross hole survey

Loke inversion inpuk

To Grapher For Decays

T GRAPHER Far Prafiles
Respace a database to create al
Spectral Pseudosection

No dot painting, fully
automatic. Electrodes do
not have to sit on mesh
nodes. Can be inaccurate if
the voxel size is too large
and electrodes end up too

far away from nodes.

4 Output data in a format suitable for Loke

Databaze File ID MAazeq ip_we 201B\process\ASEGWS_TDIP_DATA_MAY clipM=it40 BDE EI

Dutput Ireeersion file ID MAazeq ip_we 201B\processhloke ASEGWS_TDIP_DATA_May cliphd=it40_lakeinput. dat EI

— Input Databaze Fields
For arrays with fized, remote electrodes where you have selected output aray from header, below, blank the electiode poszition
figldz. B The whole datazet muzt uze theze electrodes. For 200 output pou must have either = or %' blank for each electrode

Mate: C1 iz the current electrode clozest to the potential electrodes and F1 iz the potential electrode clozest to the
Current Electrodes. Get that stage wrong and pou will end up with negative resistivities.

— Fields holding location of Current Electodes

East/e I':'l_E-ﬂ'-ST | < Increment
remaining 1< figldz

East/ |C2_EAST |

Ci Noth®' [C1_NORTH =] consecutively 2 North/ [C2_NORTH =]
RL/Z [C1_ELEY | RL/Z |C2_ELEY |
— Fields holding location of Potential Electrodes
East/ [P1_EAST | East/ |P2_EAST |
P1 North/r [FI_NORTH =] P2 Noth/t [P2_NORTH =]
RL/Z |P1_ELEY | RL/Z |P2_ELEY |
Dbserved Fesistivity I,l':‘-,p_He3 j DObzerved IP or leave Blank for none IM:-:_'I 1-28mis A j

— Output 30 Mesh Type [rverzion mode

= Trapezoidal

( &+ MoreUniform )

= 20 - Bes2diny
s 30 - Bes3diny

If uzing a trapezoidal mesh then each line of electrodes must have the zame number of electradesz init. This will generally require

zome dummy electrodesz be added to the dataset. & plat of electrode position on topography will be generated and you can then

manually add dummy electrodes. In order to make this wark you have to zelect a cell zize big enough zuch that all electrodes on
any given line are on the zame row of the gnd. Howewer it alzo haz to be zmall enough o that only one electrode ligs in any

grd cell. Suggest pou try half the “'a" spacing intially for the along line zize and half line zpacing for the crosz line zize. IF using the
non-uniform mesh electrodesz involved in the zame reading need to be at least half a cell away from each ather.

Size for grid cell in Eastss direction I 50000 Size fior grid cellin Maorth™y direction I &0.000

Amount to pad edges by - zuggest 1 dipole zpacing I 100.00

0k Cancel |




Run the inversion
Using Res3dInv x64

Invert using Linear Perturbation and
Complex non-linear IP calculations and L1
and L2 norm misfit calculations. Allow the




Exit

ASEGWS_TDIP_DATA_MAV clipMx1t4e.BDB
68
LP, L2 inversion of trapezoidal mesh
: Iinv I peZol
howi Istivit distributi
” SNOWINGg resistuvity error distrioution.
18-
Percentage
38
of total
28
data points
184
ﬂ_ —=1 i
App. resis. % error 28 48 6a 88 1488 128 148 168 188 288 228 248 268 288 3a8
Humber of points 2945 266 58 21 5 4 3 1 1 a a a a a a a
Total number of datum points is 4326
Humber of data points selected is 4318 Use the left and right arrows keys to
Maximum error 167.7. Haximum error selected 188.8. move the green data selection line.

Minimum value B8.68.



* | RES3DINVxb4 ver. 3.11.09 Professional - ID
Exit

ASEGWS_TDIP DATA_HAU clipHx1tuo_BDB

LP, L2 inversion of trapezoidal mesh
showing chargeabillity error
distribution.

6
Percentage
C

of total

n |

data points

3

a-
App. IP misfit a 2 L4 6 8 18 12 14 16 18 28 22 24 26 28 a8
Number of points 4 32 63 87 281 425 327 254 2m 161 115 78 66 23 a8 L |
Total number of datum points is 4326
Mumber of data points selected is 4326 Use the left and right arrows keys to
Haximum error 36.%9. HMaximum error selected 36.9. move the green data selection line.

Hinimum value B.84.



| RES3DINVx64 ver. 3.11.09 Professional - ID. No. : K4-FCF4AOF8-06F0 - Display Window : Di\aseg_ip_ws_2016\process\loke\ASEGWS_TDIP_DATA_MAV_clipMxit40_trim_pos,
-ile  Display Change display settings =~ Editdata Print Help Exit

Electrode used as current or potential electrode Electrode used as current elecirode
16

x2LPL2.inv

o

Lo T TR T T R - R+ T - R R o T o T T T T+ T T + T T - T R T~ T = T +
Lo TR SRR - T H B - T+ + B N - R o T « T« T + A < I« T+ I T T B T T T+
Lo TR T - T R B - S~ A + R R T o T« T+ T+ I T T+ T T R T+ I+
LT - - T+ H - T - T+ N + R - - T T T T+ I < I« T B D I T I B+
e 0 0 0 QO 0 90 0 0 0 o0 o 9 0o e O ¢ @ @ @ o O
Lo TR TR - T N T -~ A + B T o T « T T + I < T« T+ I T - A T - T R+
Lo TR T T T R - S~ T + R e R o T o T < T o S T + T T« T o B~ B = T+ T T = N+
Lo TR R T T B - R~ A + B e R T o T T S+ T + T« T T T~ B = T+ T~ T < N+
Lo TR TR+ T T - R+ T + R R o T o T« T o T+ T + T+ T + T + T - T B < T~ T+ T +
Lo T T+ T T T - T = T+ N R o T o T+ T+ T o T + T+ T+ T T T+ R < T - T = T+
Lo T T = T o T N = S T+ R R o T o T = T T+ T+ T T+ T+ T - T = R R - T = T +
LT - - T+ H T - T+ N + R T - T T« R+ T+ I T T+ - D T T I T A+
[ T - T+ E R - - B + R - R - o T+ R+ T I < I« eI I B T+
Lo TR SRR - T H T -~ + B N E o T « T« T+ O T« T+ - T - T - R T T I+
Lo TR T - T+ R - B -~ A + R B - T T T T+ I < T« . I R ]

Q0 QO 9 2 9 9 9 0 0 0 0 0 9 9 0 0 ¢ & @ @ ¢ ¢ O
Lo T - T T T R e R~ T+ B e R T o T T S+ A T e T+ T T - T T T - T = N+
Lo T TR+ T+ T R - T+ T + N R o T o T« T o T + T + T+ T + T T T B < R - T+ T+
Lo T T = T T - S = T+ R R o T o T = T o T T+ T T+ T T - T T T - T = T+
Lo T T = T T N - T+ T+ B R o T o T T T+ T« T - T + T T T T - T < I+
[T - - T+ E - R - S - B + R - R - - T« R+ T+ I < I« eI I R R TR+
Lo TR R T A T -~ N + B - T o T« T T+ I < I« - I . I T+
Lo TR - - T+ A - B - S~ A + R N - T T« T+ T+ I < T« T . D . B T+
LT - - T+ H - T - T - N+ R - R - R T R+ T+ I < I B I D R R+
Q0 Q9 9 9 9 9 0 Q0 0 0 0 0 9 o ¢ & ¢ @ ¢ o O
Lo TR TR+ T T - S~ T + N e R o T o T « T o T T + T T o T R - T = T T - T < B+
Lo T T+ T T + - S+ T + R R o T o T+ T+ T+ T + T+ T + T+ T - T = R < R T+ T +
Lo T T+ T T R - R+ T+ R R o T o T T+ T+ T+ T T + A T T T - T < T+
Lo T TR = T T R - R+ T+ R R o T o T T T+ T« T« T + T T B T - T = T +
Lo TR - - T A T -+ A + B R o T « T« T+ A < T« T+ I I - I B+
LT T - T+ R B - S~ A + R R T T+ T+ T+ I < T« T+ I T I . -+
Lo T T = T T R - R+ T+ B - R o T o T T T+ T« T« T + A T - T T < T~ T = T +
Lo TR R - T R T - T~ + B N R o T « T+ T + A+ T« T+ T T+ O R« T+ T+
Lo TR T - T R+ B - S~ T + R R T o T« T+ T+ I T T+ I T T R T+ I+
LT - - T+ H - T - T+ N + R - R T R+ T+ I < T« T+ - D e T+ B R« I+ I+
Lo T - T+ R - R S - B + R - R - B T R+ R+ I < T« R+ R T A B T+ A+
Q0 QO 9 Q9 9 9 0 Q0 0 0 0 9 9 0 g ¢ 90 9 Q0 Q9 9 0
Lo TN T T T R e S~ T + N e R o T o T < T o S T + T T+ T o B B = T < R T = N+
Lo TR T+ T T N - R+ T - B R o T o T+ T o T+ T + T T + T + T T T + T e T+ T +
Lo T R T T R - R T+ R R o T o T T T+ T T T + T T - T R T~ T+ T+
Lo T T = T o T T - T = T+ N o T o T« T o T T+ T T+ T T T o A T o T = N +
Lo TN TR - T+ N - B -~ A + R R - T T« T T+ I < T T I I T R I T+ I+
LT - - T+ H T - T+ N + R R T« T+ T+ I < T« T+ A T e T+ I« T+ I+
e 0 0 0 0 O 0 90 0 0 0 o0 9 9 o0 o O % @ @ @ o O
Lo TR TR - T N T - T~ N + B N T o T « T+ T + RO + T« T+ A+ T T+ R« T+ I+
Q0 9 9 9 0 0 9 0 Q0 0 Q0 9 9 ¢ 9 0 ¢ @ @ @ @ O O mm
Lo T - T T T B - R~ T + B e B T o T T S+ T + T« T+ T B e B« T+ T e N = N +
Lo TN TR+ T T R - R+ T + R R o T o T T+ T+ T + T T + T T - T T - T - T+ T +
Lo T T+ T T T - T = T+ N o T o T+ T o T = T+ T T T+ T T o R + T o T = T+
Lo T T = T o T R - S = T+ R R o T o T = T T+ T+ T T + A T - T T - T = T+
LT - - T+ R T - T~ B + R R T« R+ T+ I < T« T+ D e T+ E A+ I+
[ T - T+ E R - S - B + R - R - N T+ R+ R I« I« eI I R R -+
LT R - T N T - T~ + B N S o T « T+ T + A+ T« N+ O+ T T+ R« T+ I+
Lo TR R - T+ N - B - S~ N + R T - T T« T T+ I < I« - I T B -+
Lo - - B o H + B - S~ R + B N N o T « B+ e+ N« T« H + A+ B B+ B+ B« = B +
Lo T T T R e R~ T+ B e R T o T T S+ T+ T e T+ T T - T = T+ T - T = T+
Lo T TR+ T T T - T+ T + N o T o T« T o T+ T + T+ T + T + T+ T & T + T e T+ T +
Lo T T = T T R - S = T+ R R o T o T+ T o T T+ T T+ T+ T - T+ R T - T = T+
Lo T T = T T R - T+ T+ B R o T o T T T+ T+ T+ T + T T - T T T o T = S +
Lo T - T+ E R - S - R + R - R - T T+ R+ T+ I < I« T+ - D e T I -+
LT R+ T N T - T+ N + B R o T « T+ T + A+ T« T+ T T+ O R« T+ I+
Lo TR - - T+ N B - S+ A + R N T T« T+ T+ I < T« T+ I T e T I . -+
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' Lister - [\ T5500'd" aseg_ip_ws_2016"process’loke’ ASEGWS_TDIP_DATA_MAY¥_clipMx=It40_trim_pos. & |5’ |E|
File Edit ©Options Encoding Help a0 s
8829 CHO0. 861 11696 .530 -670.122 C600. 061 11796 .538 -6708.122 C653.870 11799424 -666.122 =
8830 C653.870 11699428 -666.122 C653.870 11799428 -666.122 c762.118 11793 .61 -668.622
8831 5782.118 11693 .61 -668.622 5762.118 11793 .61 -668.622 C750.360 11799428 -664.122
8832 5750.360 11699420 -664.122 5750.360 11799420 -664.122 5850.360 11799 428 -664.122
/This section has the measured and calculated apparent resistivity values
/ No. CURRENT ELECTRODE 1 CURRENT ELECTRODE 2 POTENTIAL ELECTRODE A POTENTIAL ELECTRODE 2 0
/Elec. XC1 YCA XG2 YC2 NP1 YP1 XP2 YP2 A
Y 4250.008, 4450.8008 4670.608, 11687 .004 4400, 008, 4250.000 4500.004, 4250.0800
y 4250.808, 4450.0800 4670.608, 11687 .008 4500, 008, 4250.0800 4600.008, 4250.000
y 4250.008, 4450.000 4670.608, 11687 .008 4500, 000, 4250.0800 4700.000, 4250.000
y 4250.008, 4450.000 u670.608, 11687 .008 4700.000, 4250.000 4800.000, 4250.000
4 4250.008, 4450.8008 46708608, 11687 .0084 48008, 008, 4250.000 4900004, 4250.800
y 42508.008, 4450.808 46708.608, 11687 .004 49008, 008, 4250.000 ceee.0ea, 4250.0800
y 4250.008, 4450.000 4670.608, 11687 .0008 CeAA. 006, 4250.000 5100.000, 4250.000
y 4250.000, 4450.600 u670.608, 11687 .008 c100.000, 4250.0800 5200.000, 4250.600
y 4250.008, u450.000 u670.008, 11687 .008 5200.000, 4250.000 5300.000, 4250.000
4 4250.008, 4458680 46780680, 11687 .008 c300.080, 42500680 CL4A0.000, 4250.800
y 32 '0.08080
Y 2 Th - 2 '0.608
i & e xyz file exported from Res3Dinv has 4
Y 42 . . '0.8080
: % blocks. The firstt model values for s
" e OCKS. e 1II'St two give moael values 10r g
y y2 '0.08080
+ = the centres and edges of each voxel, the v
y 32 . " " f . . '0.0080
o ow third gives the same information in a 000
s iff t format while the last block
u 2 different format while the las OC ‘6. 000
y 2 . '0.08080
B t the ob d and calculated data.
u 2 CONMAINS the opserved ana caicuiate dlad. seee
y 32 . . :0.08080
: % Extract this block t t file and i
+ = Extract this block to a separate xyz file and o
y 42 . '0.08080
o w delete the third block
l‘l‘ !I'EJH-UI'JU, T T S e LPCELF "l‘uIl’.l-l'.ll'.ll'.l, 1T IS = ooy "I‘]’l’.ll'.l-l'.ll'.ll'.l, T S e TP _fl'.ll'.ll'.l-l'.ll'.ll'.l, -ru_;ﬂ-ﬂﬂﬂ
y 4250.008, 4450.600 u670.608, 11687 .008 ceAA. 006, 4650.0800 5100.000, 4650.000
y 4250.008, u450.0800 u670.008, 11687 .008 5100.000, 4650.000 5200.000, u650.000
Y 4250.008, 4450.8008 4670.608, 11687 .004 c200.000, 4650.000 c300.004, 4,650,000
__Ij h?C0 AAn LA AOA hA70 AAA 11487 OOAAQ L2300 Aon LAGEO AAn chif aonR LACO AAQ
4



Load the xyz files into a database

|Create Filter Operations eXtract OQutp

Create a database from: Input File Name | D4asea_ip_ws_2016\processhloke\ASEGWS_TDIP_DATA_MAY_clipMsta0_trim_pos_s2L PL2_itd.xyz =

& Fixed Format &45CII File Output Database  |D-4ased_ip_ws 2018\processhlokehASEGWS_TDIP_DATA_MAY_ clipMxt40_tim_pos_«2LPLZ_it4 BDE _Ed
A Free Farmat ASCII File

Thiz routine will try and load the requested figldz from the Y2 file to a databaze. Aoy inez not containing any valid data will be writen bo an emor file.

an A5EG SOFZ File Only rurmeric data will be parzed. any fields containing alpha characters will be set to null,
A SV File ~ 2 file lines
Garid of points Line with Labels |_F"j
A ELM File (OFPERATI
E Fandam File — Load D atabase fields - Leave the databaze field label ermpty to fill that field with aulls. & field in the #2 can only appear once in the BDB
B =] 13 [ResomvolRatio_inde x| 25 | B =]
i Bl = = gl 5]
3 |Elevation Bl -] 7 <] # ]
4 IHE:SiSti'-.-‘it_',' j 16 I j 28 I j a0 I j
3 |Conductivity | Bl <] 4 B
= e Bl Rl e Ee | k2
F|Sensitivity B = =] @ Bl 7]
8 ISenﬁitivit_l,la’vnl j 20 I j 32 I j 44 I j
IHEEnIutinn j iy I j a3 I j a5 I j
10 IHesnIutinn.-"vcll j 22 I j 34 I j 46 I j
" IHEEUNUI_HatiD j 23 I j 35 I j A7 I j
12 IHE.'SIII._ir'IdE:-: j 24 I j 36 I j 48 I j
Rezet all fields ta input Drn:lerl aF | Cancel




)| ASEGW

File Edit Tools M A u u u
wa - . 1=z o naae Begmpute the
K e E lesatian Resistivity Conductivity %"S‘e TNz = o 1 gl Fesolution Rezolutic =
4159270 4199.770 511.9650 55.08400 0,107 9500E-M 4 03700 7422400 - 0./925400E - 03590200 0.2398300E -
4274635 4199885 510.3800 7245200 0.13807100E-M 2. 366000 h.801300 0. 4505000 04182300 02078300
4324730 4199885 B03, 2060 53.83500 0.16E3E00E-M 2 805000 4.502400 03670600 0 4686600 0.2386300
4374730 4199885 A02. 1060 104,1560 0.96071000E 02 E. 736000 9,3408500 0. 7320400 05132800 0. 3056600
4424830 4199885 A0a. 2860 3373300 0. 2963900E-M E£.533000 9,327300 0. 7553300 0. 7363400 0. 4042400
4474830 4199 885 5100850 223.2570 0. 44731 00E-02 8.303000 4 /73300 03658300 04357200 0. 2800500
4524930 4199 885 5138510 BE. 22600 0151 0000E-M 8504000 &8.500600 0 B3ER500 0.8398000 04242600
45?493[' 41 99885 51 B o440 T o700 M A7 0nc fd il | .1I'II'II'II_'I. 14 EARENN 1 ACc0dnn DEEE#_?DD D434?9DD
4525, 5955 4133525 7] (| APPLY A FUNCTION TO THE DATABASE = 03251700 01532500
4675.955 4193.585 523 Camy out simple arthmetic on the database. More complex maths iz better handled by BDOPERATE 01558200 0.8161700E-
HASE 4158 285 520 Yariable 2 can be a numernical value or anaother figld in the databaze. If pou want it to be another field preceed 0 B7RI500 04550800
4774135 4193.885 528 the field number with an F. e.g. F23+23.6 addz 23.6 to Field 23, F23-F15 subtracts Field 15 from Field 23. 0.7813400 0. 3816400
4823.370 4138.440 935 MOTE: The tigonometric functions expect angles to be in radians. All functions hawve their standard 0.6362200 0.4523300
4873370 4193440 R4z FORTRA&M meaning 0.8631500 0.4082300
4926, 250 4199885 BdE Function 0. 7160100 0.3435400
4976, 250 4199885 Rag 06615800 0.3508400
B2 345 4196995 544 Wariable 1 Uperator Variabls 2 Output to 09052600 04346600
AO7E. 345 4196955 841 | F |Resistivity j ILDG ;‘ I =B (EMPTYFLD 14 08064900 04234000
5124.530 4199885 a4 0 6057300 03102800
5174.530 4199885 A1 Apply to Mull Values [~ 05376700 02962400
hZ23.7e0 4193440 b4 05460400 02834400
RE73YED 4193440 A1 05377600 0.25817100
5325 715 4195 440 541 L Letnse) | 0.9516300 04661200
h3¥5.715 4193440 B4 S—— . — — —- - 08812100 0.4570600
hd24.885 4193440 Ra0 2220 1402430 0.7130200E-02 5026000 1964300 1.583300 09223300 0. 4662000
hd74.885 4193440 Ba1.3220 214.5480 0. 46E7000E-02 1022000 1887400 1.508300 0.9117800 04572400
A526.840 4193440 5438460 332.9530 0. 3003400E 02 5 632000 1893200 1424700 09030200 04237400
R57E.840 4193 440 547 BAED 52 43300 0.1907200E-M 7158000 2000400 1.733000 09192700 0.43357100
4193 440 5515650 2004430 0.3328400E-02 7253000 1316100 1.018800 0.5881800 0.2848100
4193440 A55.3150 1676720 0.5964000E -02 . 222000 7. F36E00 0 6433300 03003100 01576600
A19F 99R FRRA RERMN 2R RFANN 3971 ARONF -n1 A 341000 17 89400 I 1 43020 N 7437700 M ???I'I'J'I'II'I} e

= ﬂ Fecaord Zzof 18336
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M irirnLirn

 Left Axis — Right &xis

BE1E.700 0o )
2300 556 .0 1
731830 D.DDDDD[‘[‘
112.0864 0.000000
B1.77424 e-mﬁ l
4315822 0.000000
2.54220 0.000000
10.00000 0.000000
2.000000 0.000000
1.000000 0.000000

0.7511300E-01 0.000000
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Compute 3D plot points for the

forward model results

o« IP PROCESSING SUITE - Explore

Input  Ukilities | Modelling Cutput  Abouk
iZalculate a Geosection

Compute plok poinks From Loke Foy
o : i
20 Inversion of data - CALCULATE 3D PLOTPOINTS FOR A LOKE FORYYARD MODEL FILE

Thiz routine computes a 3d pzeudozection plat paint for the fansard model output from Res30iny. Becauze the line number iz not pazsed
to Rez30 and may not alwayz be rezalved fram the electrade positiohs each reading is reated as itz own 30 paint.

Input Database File ID:'\aseg_ip_ws_EEﬂ Buprocesshloke’ASERWS_TDIP_DATA_MAY_clipbd=itd0_trim_pos_«2LPLZ_itd_obszc. EI

~ Fields holding Electrode pozitions

For remote electrades or to ignore a field set the coresponding field to Blank

Clx IKE'I j <- Incremmet F1X IKF"I j
remaining fields by 2

Ci [rCi | P1Y [YP1 |

C2x [xC2 | P2 |+P2 |

2y [vC2 =] F2y [vP2 |

— Dipole size for pzeudosection M7

YWwhat is the dipole zize for thiz plot? I 100.00
— Output Figldzs
Field for plot paint % [EMPTYFLD_17 = | Label  [PlotPt
Leave blank to
Field for plot paint Y [EMPTYFLD_18 | Label IF'I:::tF't_‘“r“ retain curment
contents
Field for plot paint M [EMPTYFLD_13 = | Labiel  [PlotPt_N

O Cancel |
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Inversion results

Inversions run

Linear Perturbation L1 Norm Trapezoidal mesh 50m x 200m voxels
Linear Perturbation L2 Norm Trapezoidal mesh 50m x 200m voxels
Complex non-linear L1 Norm Trapezoidal mesh 50m x 200m voxels
Complex non-linear L2 Norm Trapezoidal mesh 50m x 200m voxels
Linear Perturbation L2 Norm Non uniform mesh 50m x 200m voxels
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* ASEGWS_CRIP_Data.BDB

File

=8| x|

EH|” 4 HEsFNDE
LIME_MO. STATIOM_MO. EASTING NORTHING USE_FLAG N walUE CURREMT Amps | PWOLTAGE mb ARHO_ohm-m Zanc |

P PHASOR PLOT - Filled Symbol = 3 pl ¢ 1.000000 -6.000000 1000000 7.442993 1672340 19.7151
1SR | * | x p o i e el el i | < = [1.000000 -4.000000 1.000000 B.1E7EE3 2081300 18.9208
4 1.000000 -4.000000 1000000 8167094 8081200 19.0961
E Line +45425000, Shafon 415000, W= 500 Phase conbours al +0mAal .
| . SPECTRAL PSEUDDSECTION - LINE -0 x|
4 - 0 =
u Sl X+ e ;
4 r - 013
E i -:-"_ R R ] e et e e h
] SRS SRR ¥ £
4 L — 0 Fa
E '--"-------------------:I ------------------------- r
|| ,r'- " r© L
E """""""""""" g -~ -~ -
| | -~ = - - -
4 -------------------- e L CECETETE TS a E F o F o - - b -
E T T T :! T T T T E -~ a— - 2 — =
N ; ------------------------------------------ i T —
4 ] - - —m— S — 3 e =a
- 4 —-00s0 - - — e — - -
4 ------------------ :' ________________________________ r - —— == T o, === e L —
E |* o - T -t T ™ — —
= cmecdmmar o ceereesn i =g
1 R e |
4 o
1 ! =150
71 4
| [ R T —-mm
— an i) a4 a2 54 1000 104 1040
4 fed
4
% MOISE CLICK RETURMS CO-ORDINATES p
4454250 4800.000 4250.000
4454250 4800.000 4250.000
AARA DR 4800.000 4250.000

1 4800.000 4250.000 1.000000 -5.000000 1.000000 9.951757 154.7890 18.5750

A200 nnn A2R0 NNN 1 Annnnn 23 nnnnnn 1 TNNnnn 11 174720 F1 424900 18 IRTF B
[ ]

h Records 1to 4 of 10510



